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NOTES FROM THE AUTHORS

MIDDLE SCHOOL MATH WITH PIZZAZZ!

Is a series o five books designed to provide
practice with skills and concepts taught

in today's middle school mathematics
programs. The series uses many o the
same puzzle formats as PRE-ALGEBRA
WITH PIZZAZZ! and ALGEBRA WITH PIZZAZZ!
both published by Creative Publications.

We believe that mastery o math skills and
concepts requires both good teaching and a
great deal of practice. Our goal isto provide
puzzle activities that make this practice
more meaningful and effective. To this end,
we have tried to build into these activities
three characteristics:

1. KNOWLEDGE-OERESULTS. Various
devicesare used in the puzzlesto tell
students whether or not their answers
are correct. Feedback occurs immediately
after the student works each exercise.
For example, if a particular answer is not
in the code or scrambled answer list, the
student knows it isincorrect. He or she
can then try again or ask for help.
Additional feedback and reinforcement
occurs when the student finds a puzzle
solution that is appropriate. This
immediate knowledge o results benefits
students and also teachers, who no
longer have to spend time confirming
correct answers.

2. A MOTIVATING GOAL FORTHE
STUDENT. The puzzles are designed so
that studentswill construct a joke or
unscramble the answer to ariddle in
the process d checking their answers.
The humor operates as an incentive,
because the students are not rewarded
with the punch line until they complete
the exercises. While students may decry
these jokes as "dumb" and groan loudly,
our experience has been that they enjoy
the jokes and look forward to solving the
puzzles. The humor has a positive effect
on class morale. In addition to humor,
the variety and novelty o procedures for
solving the puzzles help capture student
interest. By keeping scrambled answer
lists short and procedures simple, we

have tried to minimize the time spent on
finding answers or doing other puzzle
mechanics.

3. CAREFUL SELECTION OF TOPICS
AND EXERCISES. The puzzleswithin
each topic area are carefully sequenced
so that each one builds on skills and
concepts previously covered. The
sequence o exercises within each puzzle
is designed to guide studentsin incre-
mental, step-by-step fashion toward
mastery o the skill or concept involved.
A primary goal isthe development o
problem-solving ability. In order to solve
problems, students need not only rules
and strategies but also a meaningful
understanding o basic concepts. Some
puzzlesin this series are designed specif-
icaly to build concepts. Other puzzles,
especially those for estimation, also help
deepen students' understanding by
encouraging them to look at numbers as
quantities rather than just as symbolsto
be manipulated. For puzzles specifically
keyed to problem solving, we have tried
to write problems that are interesting
and uncontrived. We have included extra
information in some problems, and have
also mixed problem types within sets,
so that the problems cannot be solved
mechanically.

In addition to these efforts to make the
puzzles effective, we have tried to make
them easy to use. The topic for each puzzle
isgiven both at the bottom o the puzzle
page and in the Table of Contents on pages
Iv and v. Each puzzle is keyed to a specific
topic in recent editions d leading middle
school textbooks. Each puzzle requires
duplicating only one page, and many

o them provide space for student work.
Finally, because the puzzles are self-
correcting, they can eliminate the task

of correcting assignments.

We hope that both you and your students
will enjoy using these materials.

Steve and Janis Marcy
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NOTES ABOUT USING THE PUZZLES

The selection o topics for M DDLE SCHOOL
MATH WITH PIZZAZZ! reflects recent thinking
about what isimportant in an updated middle
school math program. Virtually every puzzle can
be matched with a particular lesson in recent
editions o popular textbooks. After students
have received instruction in a topic and worked
some sampl e exercises, you might assign a
puzzle along with a selection d textbook
exercises.

Students in the middle grades should begin to
classify many mathematics problems and
exercises into one o three categories:

1. MENTAL MATH Problemsfor which an exact
answer can be obtained mentally.

2.ESTIMATION. Problemsfor which an
approximate answer, obtained mentally, is
sufficient.

3.TOOLS. Problems requiring an exact answer
that cannot be obtained mentally. Students
will use paper and pencil and/or calculators.

Some d the puzzlesin this series focus
specifically on one of these categories. A few
puzzles actually present problemsin all three
categories and ask the student to make the
classification.

By the time they reach the middle grades,
students should generally be permitted to use
calculatorsfor problems that require tools
(Category 3). The most common argument
against calculator use is that students will
become overly dependent on them. This concern,
though, appears to be based primarily on fear
that students will rely on the calculator for

problemsin Categories 1 and 2, those that
should be done mentally.

To solve problems in Category 3, calculatorsare
wonderful tools for computing. Students may
also need paper and pencil to make diagrams,
write equations, record results, etc., so they will
need both kinds o tools. On the other hand,
students should not need calculators for
problemsin Categories 1 and 2, problems that
call for mental math or estimation. Skillsin
these areas are essential not only in daily life
but also for the intelligent use o the calculator
itself. The puzzlesin this series reflect these
three categories and the distinction between
them.

When students do use calculators, you may
want to have them write down whatever
numbers and operations they punch in and their
answers. Thismakesit easier to identify the
cause d any error and assists in class
management. Even when students do mental
math or estimation puzzles, have them write a
complete list of answers and, where appropriate,
the process used to get the answers. Encourage
students to write each answer before locating it
in the answer list. Students should complete dl
the exercises even if they discover the answer to
thejoke or riddle earlier.

One advantage o using a puzzleas an
assignment is'that you can easily make a
transparency d the page and display the
exercises without having to recopy them on the
board. You can then point to parts d a problem
asyou discussit. It is often helpful to cut the
transparency apart so that you can display
exercises on part o the screen and write
solutions on the remaining area.

Other books by Steve and Janis Marcy
published by Creative Publications

Pre-Algebra With Pizzazz!in a Binder
Covers most topics in a pre-algebra curriculum

Algebra With Pizzazz!in a Binder
Covers most topics in a first-year algebra curriculum




What Happened When ThereWas a
Kidnapping at Bizarre Middle School?

Write each ratio in simplest form, then find your answer at the bottom of the
page. Write the letter of the exercise in the box above the answer.

l.  Write .eachratio. . . . . . . .

@ Stars to squares @ Circles to stars

@ squares to circles @ Stars to all figures . . . . . .
@ Stars to circles @ Squares to all figures * * * * *

Il. ATV screenis 15 in. high and 20 in. wide. Write each ratio.
(H) Height to width (A) Width to height

lll. A magazine photograph is 24 cm long and 16 cm wide.
Write each ratio.

@ Length to width
(P) Width to length

16 cm

IV. There are 30 studentsin a class, including 16 boys. Write each
ratio.

Girls to boys ® Boys to girls
Girls to all students @ Boys to all students

@@

V. A fire-breathing swamp monster is 36 feet tall. When last observed, his shadow was 40
feet long. Write each ratio.

Height of monster to length of shadow
Length of shadow to height of monster

@G

VI. Count the number of teeth on each gear.
Then write each ratio.

@ Teeth on Gear X to teeth on Gear Y
@ Teeth on Gear Y to teeth on Gear Z
® Teeth on Gear X to teeth on Gear Z
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Why Did the Writer Enjoy Living in a Basement?

the box containing the number of the exercise. If the answer has a ’, shade in the

Do each exercise and find your answer to the right. Write the letter of the answer in I
box instead of writing a letter in it. =

I.  Write each ratio as a fraction in simplest form. Answers:

() 71012 (2) 94 @E @i
(3) 81010 (@) 2010 12 > S
®% @F
(5) 25:50 (6) 6outof 15 10 3
6 3
(7) 80to60 (8) 35 out of 100 .g @ﬁ
78 out of 780 90:30 v 1
©® (9 ® OF
@ The ratio of wins to tosses for ateam with-60 wins 'F .I:
and 90 losses. O O -
@ The ratio of girls to boys in a 7th grade class with @ e @ 9
300 girls and 250 boys. 4
@ The ratio of red to blue for a purple paint made by . —‘g— @ %
mixing 24 oz of red with 28 oz of blue.
_ _ @ 2 2
The ratio of blue to red for a purple paint made by 3 ® 5

mixing 24 oz of red with 28 oz of blue.
G0000 0000000000000 00000000900000000000000000000000000000000000000000000000000000

. Write the ratio of the two measurements in the
unit indicated (a unit rate).

A car traveled 300 miles on 15 gallons of gas. Answers:
(miles per gallon)
Ima Smurf typed 120 words in 3 minutes. @ 48 . 560
(words per minute)
Dr. Cranium traveled 2,800 miles in 5 hours: 32 22
(miles per hour) @ @

(18) A gear revolved 960 times in 30 minutes. @ 15 . 20

(revolutions per minute)

(19) Gloria Trench eamed $144 in 8 hours. 40 520
. (dollars per hour) @ @

@ Roger Bannister ran 5,280 feet in 4 minutes.
‘ (feet per second) (HINT4min=_7 ) @ 18 @ 36

13/ 3|7 (169 |5 (151 |4 (1711 ]19| 8 [12|18| 2 |20(10|14| 6

MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK E
TOPIC 1-b: Ratio and Rate E-8 © Creative Publications



CRYPTIC QUIZ

1. What should the JOLLY GREEN GIANT receive?

6 5 18 11 16 15 52 18 70 2 80 18 9 12 13 80 20 30 1 18
2. Why did it take the GOAT more than 3 hours to finish a 20-page book?

5 18 21 8 9 12 16 6 24 4 18 20 3 60 5 10 16 7 20 3

esl  Solve each proportion and find your answer in the code. Each time the answer b3 1
35 appears, write the letter of the exercise above it. ‘§§

0%-2 @33 @%-2
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What Did Snidely Say After Filling
His Car With Super Premium,
TopTest, Power Plus Gasoline?

Solve each problem and find your answer in the rectangle below. Cross
out the box that contains your answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

IO

@ The Jelly Junior High school color is
made by mixing red paint with yellow
paint. The ratio of red to yellow is 3 to
5. How much red paint should be
mixed with 20 oz of yellow?

0z
The Lawn Order lawnmower factory
can produce 12 lawnmowers in 8
hours. How many hours will it take the
factory to produce 30 lawnmowers?

h
An object that weighs 10 Ib on Earth
would weigh only 4 Ib on Mars. If you
weigh 95 Ib on Earth, how much
would you weigh on Mars? Ib

The ratio of orange juice to pineapple
juice in Tropical Treat punchis 4 to 3.
Bill has 64 oz of orange juice. How
much pineapple juice does he need?
0z

A cookie recipe for 60 cookies calls

Jose can read 7 pages of his book in
5 minutes. At this rate, how long will it
take him to read the entire 175-page
book? min

While exercising, Julie found that her
heart was beating 12 times every 5
seconds. How many times was it
beating per minute (60 seconds)?

If there are 1,200 calories in 8 oz of
hot fudge, how many calories are in 3
oz of hot fudge? cal
At a certain college, the ratio of men
to women is 6 to 5. If there are 1,500
men, how many women are there?

One of the world's largest stained-
glass windows is at Kennedy
international Airportin New York. It is
a rectangle with a height to length
ratio of 2 to 25. If the window is 24

for 4 cups of flour. How much flour is feet high, how long is it? ft
needed to make 90 cookies?
cups
HI PU TA KE EP JU NK IN

48 300

GO TO HO oD

6 15

TOPIC 1-d: Problem Solving: Using Proportions

MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK E
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Did You Hear About...

A B C D E F
G H I J K L
?
Use a calculator to do each exercise. Find your answer and
notice the word next to it. Write this word in the box containing
the letter of the exercise.
l. Solve. Round each answer to the nearest tenth. 247 PIECES
75 _ 42 15 _ 80 '
12 x 8 X 21.8 STORIES
@ 6 - x_ @ 79 _ 1 1,840 FAINTED
9.4 32 b '¢ 25
197.5 DROPPED
E) 12 = 3.1 F) X =378
X 1 58 ~ 100 19.6 THAT
1,625 CAN
Il. Solve. Round each answer to the nearest whole number.
6.7 THE
@ Tom's red bicycle travels 50 ft for every 3 pedal turns. How
many pedal turns are needed to travel a mile (5,280 ft)? 116 BOX
@ For a survey, a company decided to call 7 out of every 5,000 20.4 WHO
people. How many people should be called in a town of
78,000 people? 127 TRASH
@ Gloria Trench checked her gas mileage and found that she 1,355 PILE
had used 16.6 gal of gas to travel 372 mi. At this rate, how 317 INTO
many gallons will she use to travel from San Francisco to
Washington, D.C., a distance of 2,850 mi? 235 AND
@ A U.S. nickel contains 3.9 g of copper and 1.2 g of nickel. 38 TEN
How many kilograms of copper must be combined with 500
kg of nickel to make nickel coins? 42.7 WRITER
® On the stock exchange, 100 shares of Pizzazz Corp. stock 109 A
are selling for $425. How many shares can be purchased for
$1,0007? 324 FROM
@ At Paul Bunyon's logging camp, the cook scrambled 20 1,920 LIVED
eggs for every 3 loggers. How many eggs did he need for
the 288 loggers at the camp? 2115 WROTE

M|DDLE_ SCHOQL MATH WITH PI1ZZAZZ! BOOK E
© Creative Publications E-11 TOPIC 1-e: Using a Calculator: Solving Proportions



What Is a Termite's Favorite Breakfast?

For each pair of similar figures, find the length X. Cross out the letter next to your
answer. When you finish, the answer to the title question will remain.

9cm

14 cm

15 ft

20m

50 in.

8m

24 in.

12 cm

16 ft

46 m

21 in.

44 cm

10 cm

18 m

48 in.

40 cm

W F OOT CADIKMSEGGA AT L E

42 m

®

9m

®

20 cm

X
12m
15¢m 12 cm
6m X 20 cm
10in.
35in.
6 in.
)¢
; : 36 in.
72 in.
25 in. 30m
X
X 25 m 15m
@ 21 cm
\/{ X
20 m
60 m

35 cm

@ A flagpole casts a shadow 10 ft long.
If a man 6 ft tall casts a shadow 4 ft
long at the same time of day, how tall
is the flagpole?

TOPIC 1-f: Similar Figures

E-12

14m| /

A photograph is 25 cm wide and 20
am high. It must be reduced to fit a
space that is 8 cm high. Find the width
of the reduced photograph.

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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What Goes Ha! Ha! Ha! Thud?

Scale—+2cm:3m

ballroom

L

parlor

L

foyer

AN

library

gallery

This is a scale drawing of one floor in a European castle. Do each exercise and find
your answer in the adjacent answer column. Write the letter of the answer in each
box containing the number of the exercise.

I.  One dimensionis given for each room. Measure to find the other dimension to the nearest

tenth of a centimeter.

@ ballroom 4.3 cm by
@ library 3.2cm by
@ parlor 2.8 cm by
@ foyer 2.8 cm by

@ gallery

by 6.0 cm

[l. Find the actual room dimensions. ("Length" refers to the longer dimension and "width" to

the shorter dimension.)

(P) 8.65m (F) 42m

(8) length of the width of the
ballroom ballroom @ 9m 13.65m

length of the width of the @ 54 m 825 m
library library

length of the width of the 13.25m 6.15m
parlor parlor 6.45 m 51m
length of the width of the

@2 foyer sallery (H) 585m (@) 48m

I12 8 12|12 (101214 |9 (136 |2 |9 |13 11135 (12,7 (3 |11 11|

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOKE -
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What Do CentipedesHate To Do?
N

Do each exercise and find your answer at the
bottom of the page. Write the letter of the
exercise in the box containing the answer.

I.  Write a percent for the amount shaded.

@ ®

Il. Write a percent for each
group of circles.

$8888888
@ the shaded circles ::::.‘:::
@ the unshaded circles 0l0/0/001010®;

I1l. Write a percent for each ratio.

(s) 110100 (N) 8310 100
75 24
100 100

(H) 0.62 (0) 0.98
(1) 0.03 (@) 0.86

IV. Solve.
@ There are 100 centimetersin a meter. @ Gulliver tossed a coin 100 times and
What percent of a meter is 30 cm? got 43 heads. What percent of the
ils?
@ There are 100 cents in a dollar. What tosses were tails?
percent of a dollar is $0.157 @ Of 100 students surveyed, 90 chose

math as their favorite subject. What

Of the 100 million acres in California, percent chose math?

the federal government owns 45 million

acres. What percent is this? ® A sheet of 100 stamps has 22 stamps
left. What percent of the stamps has
already been used?

1% | 3% | 7% | 10% | 156% | 18% | 20% | 24% | 25% | 29% | 30% [ 33% | 40% | 42% | 45% | 48% | 50%

54% | 57% | 59% | 60% | 62% | 67% | 71% | 75% | 78% | 80% | 83% | 86% | 88% | 90% | 96% | 98% |100%

E 1 4 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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Why Didn't Dexter Want a Pocket Calculator?

Do each exercise and find your answer in the answer columns. Write the letter of the
exercise in the box containing the number of the answer.

I. Write each percent as a fractionin

lowest terms.

)

e e e L LS S I N

Il. Write each fraction as a percent.

®

© L

2

5

® 2
® 2%

10
(H) 25% (E) 75% : @ = 19
(¥) 30% (D) 70% @ 516 %36
®) 4% (0) 36% @ % ®) %
(W) 18% (R) 66% @ 5 ® =
(8) 13% (H) 49% =- I ® &
(E) 95% () 50% % 76010
oooo‘oooooooANSWERSooooooooooo %". XXX XX) ANSWEHS“""""'
% 1_46% 23_0 (29) §9§ :_ (9) 2% @ 40% (1) 72%
1 , . . i (14) 5% (18) 46%  (25) 75%
-
® 4 10 . 50 20 9% (30) 60% (5) 85%
1 1 19 3§ @12 @es%  (29)88%
@ 2 ® 5 10 & Des%  (@Dern (27 90%

@) 11_36 39 % . —g% i (@%@ 70% (20) 96%
|1'2l3 4 5‘6)7 8 9'1'6 11]12 13'14 15 [ 16 (17 | 18 191
20 |21 |22 (23|24 |25 |26 |27 |28 [29 (30 |31 {32 |33 |34 |35 (36 |37 |38

| |
TOPIC 2-h: Percent and Fractions E'1 6 MIDDLE SCHOOL MATH W(g (H:rzgzti%/éZPZu!blﬁ?aotiEnEs



What Arethe Titles?

2.

Title 1:

94% 42% 68% 13% 26% 83% 3%

Title 2;

15% 22% 55% 13%

6% 33% 44% 13% 42% 3%

57% 86% 57% 57% 23% 13% 92%

8%

86%

4% T1% 44% 55% 42% 4% 73%

exercise above it.

TO DECODE THE TITLES OF THESE TWO PICTURES:

Write each fraction as a percent rounded to the nearest whole percent. Find your
answer in the code. Each time the answer appears, write the letter of the

u
15

@2

27
40

© %
® %

15
16

©%
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3
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Did You Hear About...

A B C D E F G
H I J K L M N
O P Q R S T t?
Answers A - J: AnswersK - T:
1, Do each exercise and find your answer
57 % ABOUT in the appropriate answer column. 8.3% LOOKING
5 Notice the word next to the answer.
1673-% HEARD Write this word in the box containing the 6.4% AROUND
5 letter of the exercise.
731—1—% THAT | _ _ 33.3% QUARTERS
I. Write each fraction as a percent that
2_;_% AND contains a fraction. 41.4% NIGHT
885%THEN | (R) 2 2 © L 88.9% SPENT
1
37—5% THE 1 7 2 62.5% THE
2 @ s OGF
28—7—% RAINED 8 3 @ ’ 11.8% WHOLE
3--% MORE ! 718 %0 | 43.5% PUDDLES
@ On a math quiz, Raoul got 7 out of
77_7_% WHO 8 problems correct. What percent 57.1% AND
9 were correct?

NN NN L LN LN LN AP NPT

17—2—% SAID 6.7% FOR

1 Il. Write each fraction as a percent
58?% I rounded to the nearest tenth of a 85.6% SEVEN
3 percent.
187% INCH 62.8% SOME
1 4 8
66--% KID ® 5 Ok, Ok 40.6% DAY
1 S 2 13 0
295 % WAS @ 6 @ 17 ® 32 8.7% TRYING
]
87+5% THREE 1 1 5 43.8% QUARTERS
g @ 73 15 ® 3
7271—% AN @ Jennifer shot the basketball 16 11.2% NEXT
1 times and made 7 baskets. What
16-4-% EXTRA was her shooting percentage? 83.3% THE
_ MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
TOPIC 2-b: Percent and Fractions E"1 8 © Creative Publications




<[
o)«
10| o0

O s0¢  £0¢9

O yoea Ul > 10 < e Ind 0] SA0QE BUl| JaqWINU 8L} pue SIemsue INoA asn

|

‘VH1X3

(9P S e Geiele

o
1—,(:) v
o
10|co N~|co
NS ol2
@ O
o|w
o<

o
™|
™|

€ 8 ot
T T© T

T—'LO
1—[(\]

%001 %06 %08 %0.L %09 %08 %0 %0€ %02 %01 %0
A_______:__:4__::_______34 RRRRRRRRNRRRARRRRRRRARR AN __:____ﬂ_:________,_:____: ______ZJV

"Juiod ey} 1e aulj Jaquinu 8y} 8A0gE 8S10Joxa dU] 10 J818| 8y} 1M
.Emohmamcﬁongcoammtooﬁmﬁms__mnE::mcﬁco“c_oamc;c_u_.cozom:somwsEmohmamaE;

¢.1day] 1dAB7 u1 Aauoyy ayj Jo ISO S| 2I_dYMm

TOPIC 2-b: Percent and Fractions

E-19

MIDDLE SCHOOL MATHWITH PI1ZZAZZ! BOOK E

© Creative Publications



pue usdisg -g OldOl

spewid

3 X004 iZZVZZId HL1IM H1vN TO0OHOS I1aaiiN

SUONIBOIIgN BAlIBRID O

What Happened After Old King Cole Ordered That
Chopped Cabbage Must Be Mixed With Mayonnaise?

Do each exercise and find your answer in the answer column below it. Write the letter of the
answer in the box containing the number of the exercise.

I. Write each percent as a decimal. Il. Writeeachdecimalasapercent.

@ 42% (6) 9% @ 15% (16) 0.38 (21) 0.04

I14811 2/519|1]15|14 13| 7 |10 3 |12| 6 (20|17|26|24|21|18|29|23 |27




Why Did The Coffee Taste Like Mud?

For each exercise, circle the best estimate. Write the letter next to your answer in the
box containing the exercise number.

l. Circle the percent that tells about how much of the bar is shaded.

@ 67% @ 50% @ 24% (D) 10%

(V) 46% (0)33% (F) 6o% (T)75% (U) 50% @ 5%

[Il. The circle graphs show the results of a student poll. Favorite Kind of Music
Circle the best estimate for the percent described.

10. About what percent chose rock music?

@ 75% @ 55% @ 40%

11. About what percent chose soul music?

@ 12% ® 2% (H)23%

12. About what percent chose other kinds of music?
(L 46% (G)33% (T)67%

13. About what percent chose hot dogs? Favorite School Lunch

@ 38% @ 15% (J)25%

14. About what percent chose pizza?

@ 60% @ 50% @ 45%

15. About what percent chose chicken?

@ 15% @26% @4%

2 | 8 1116 |4 131 (10 3

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E o
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QY How Did Everybody Know When Sir ¥ o
© Lancelot Was in Love with a Lady? °

Estimate each percent. Under each exercise, circle the letter of the better choice.
Write this letter in the box containing the number of the exercise.

HINT First change the percent to a simple fraction. Then change the amountto a
number that is easy to divide by the denominator of the fraction.

(1) 26%of 27 (2) 49% of 61 (3) 33% of 299 50% =4

@about 10 @about 25 ®about 100 e m s mom e

1
(%) 18% of 42 (5) 41% of 42 (6) 58% of 42 2% = z
@ about 12 @ about 16 @ about 20 5% = 4
® about 8 @ about 10 @ about 24 "= omoEoEoE
(7) 74% of 45 67% of 88 (9) 13% of 25 334% -+
@ about 33 @ about 60 @ about 5 66 2 o - 2
@ about 27 ® about 50 ® about 3 37° 73

(10) 37%of 25 (11) 63% of 25 (12) 86% of 25 erre e

@ about 12 @ about 15 @ about 21 20% = %
@ about 9 ® about 20 @ about 18 40% = %
(13) 68% of 118 79% of 31 (15) 24% of $202 60% = %
about 72 (G) about 28 (T) about $44 1
@ about 80 @ about 24 ® about $50 0 =75
36% of $75 (17) 62% of $162 76% of $47 TeRRReE
@ about $27 @ about $90 ® about $36 12%% = %
@ about $36 @ about $100 @ about $30 37 _;_ % = _:_é_
39% of 152 529% of 495 (21) 98% of 1,010 solo .5
(F) about 54 (E) about 240 (M) about 1,000 f B
@ about 60 @ about 250 ® about 100 87?% =4
! 16| 4

i14’8 3 17|10 19| 6 |12 11L5r15 9 18(13(11]20]| 2 7

(S
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DOUBLE CROSS

1. What do you get when you cross a MONKEY with a FLOWER?

486 563 140 16 612 84 96 128 96 486 720 1.53 629
2. What do you get when you cross a BABY with a COMPUTER?

153 16 2187 67 1188 78 140 612 67 140 224 612 1188 153
3. What do you get when you cross a PENNY FROM LONDON with a HATCHET?

486 720 247 465 720 75 396 612 153 16 1228 486 483 750

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:

Do each exercise and find your answer in the code. Each time the answer
appears, write the letter of the exercise above it.

(©) 27% of 81 (Y) 85% of 74 (A) 54% of 90

() 18%of 34

(M) 6% of 140 @ 12% of 625

(®) 62%of 75 L) 4% of 56

X) 70% of 69

O 90% of 44 S) 9%of 17 (P) 48% of 20

140 465 720 1188

(@) 33% of 360

(R) 5% of 134

@ 2% of 800

@ Some doctors recommend that no more than 30% of a
person's daily calories come from fats. Following this
recommendation, if you eat 2,400 calories in a day, what
is the maximum number that should come from fats?

@ When training for a fight, Rocky tries to maintain a heart
rate that is 80% of his maximum heart rate. Rocky has a
resting heart rate of 60 and a maximum heart rate of
175 beats per minute. What is his training heart rate?



20.4

6.768

11.52

24.94

$132

140

0.2375

26.64

11.25

1.5 \ / $114

75.06

14.28

/

1692  \U
AN

21.6

15.2

0.2615

$16.51

12.45

77.56

1.375

0.64

0.7

TOPIC 2-g: Finding a Percent of a Number

What Can You Use to
Stick Blocks of Snow
Together?

Do the exercises below and find your
answers in the rectangle. Shade in each
area containing a correct answer. You
will learn how to build an ice house.

(1) 21%of 68 (2) 85% of 36
(3) 8%of 144 (4) 3% of 720
(5) 2.5% of 55 (6) 9.4% of 18
(7) 6.8% of 300 33.3% of 80
(9) 4% of 16 7.5% of 12
(11) 30% of 37.5 (12) 72% of 9.4

@ 3.8% of 400 . 87.5% of 160

@ 70% of 110.8 . 5% of 4.75

@ Fabio is a video salesman. On each sale, he
earns a commission of 12%. One of his
customers bought a TV for $550 and a VCR
for $400. How much did he earn in
commissions?

Robin bought a bow and 15 arrows at
Nottingham Archery Supply. The total price
was $254. In Nottingham there is a 6.5%
sales tax. How much tax did Robin pay?

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
E"26 © Creative Publications



What Does An Artificial Show Machine M ake?

Do each exercise below. Find your answer in the answer column and notice the letter
next to it. Look for this letter in the string of letters near the bottom of the page and
CROSS IT OUT each time it appears. When you finish, write the remaining letters in

the rectangle at the bottom of the page.

I. Find the percent of the number.

(1) 120% of 70 (2) 200% of 12.5
(3) 0.4% of 980 (4) 0.16% of 600
(5) 180%0f7.5 (6) 350% of 32
(7) 0.9% of 1,600 (8) 0.25% of 400
Il. Solve.

®

@
@
©)

A special vitamin capsule provides 250% of the vitamin C
needed daily. If 60 mg of vitamin C are needed daily, how
many milligrams of vitamin C are in the capsule? mg

The number of calories in a hot fudge sundae is 300% of the
number in a dish of plain vanillaice cream. If the ice cream
has 150 calories, how many calories are in the sundae? cal

The value today of a certain rare coin is 140% of its value 2 years ago.

If the coin was worth $190 then, what is it worth today? $

The money in Laura's savings account is earning interest at the
rate of 0.5% per month. If she has $1,450 in the account,
how much interestis she earning each month? $

An ore is 0.75% pure gold. How many kilograms of gold
are in 500 kg of ore? kg

@ A Boeing 747 weighs about 750,000 Ib. The original Wright

Brothers' plane weighed 0.1% of this. How much did the
Wright Brothers' plane weigh? Ib

Six weeks ago, Qwerty could type 20 words per minute.
But he has been practicing. Now his speed is 175% of his
speed 6 weeks ago. How fast can he type now?

wpm

Answers

RIBSTGHNYVPORTWMIJIFLIGATCDKHERUPS

I ANSWER TO PUZZLE:

MIDDLE SCHOOL MATHWITH PI1ZZAZZ! BOOK E
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How Can You Tell a Dogwood Tree?

Decide whether you would choose mental math, estimation, or a tool (paper and
pencil or calculator) to solve each problem. CIRCLE the letter in the appropriate
column next to the problem.

Then solve the problem. Find the answer at the bottom of the page and write the
letter you circled under it.

Choose: M mental math, E estimation, or T ’tool M E

1 In a class of 35 students, 20% of the students play in the school |
orchestra. How many of the students play in the school orchestra?

—]

<
I

2 Last year the Midas Middle School cafeteria served pizza on 12% of
the school days. If there were 175 school days, how many times was
pizza served?

O
>

3 Krispy Krunch cereal is 49% sugar. About how many ounces of sugar
are in a 16-ounce box of Krispy Krunch? 0z

Karlene paid $129 plus 6% sales tax for a guitar. What wés the total
cost? $

N

X| ™ O C
w
O » Z

Ms. Jackson bought a new car for $9,360. She agreed to pay 10% of
the cost as a down payment and finance the rest. How much was the
down payment?

() |

Jewelry marked 18-karat gold is 75% pure gold. How much pure gold is
in an 18-karat gold necklace that weighs 258 grams?

>
m
<

~N | O

All the clothes at Unique Boutique are on sale. The discountis 33 13% B

of the regular price. About how much would you save on a jacket with a
regular price of $59.507?

G

The school dance committee had a budget of $200 for the Halloween T P N
dance. It decided to spend 25% of the budget on decorations. How
much can be spent on decorations? $

9 A writer earns 8% of total sales dollars as a royalty. If 2,000 copies of L U R
his book are sold at $14.95 each, how much money does he make?

$

oo

136.74| 2,485

TOPIC 2-i: Problem Solving:
Choosing a Calculation Method E'28 © Cregtive Publications
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How Do Yau M ake a Vegetable Necklace?

Use the information given in the chart to fill in the missing values. In the rectangle
below, cross out the box containing each correct answer. When you finish, write the
letters from the remaining boxes in the spaces at the bottom of the page.

Original | Percent |Amount of Sale
Article on Sale Price Discount | Discount Price
1. calculator $12 25%
2. tent $90 25%
3. sweater $65 25%
4. dress $78.00 15%
5. camera $129.50 40%
6. sports jacket $140 35%
7. tape deck $299.95 20%
8. VCR $575.00 10%
9. racing bike $360 | 331 %

DO Y Fl ST Oou OoP AR R
$517.50 | $51.80 | $67.50 |$508.50 | $59.99 | $240 | $11.70 | $75.20
ST IN TO Bl GB A OX OF
$9 $43.75 | $120 $49 $69.30 $3 $239.96 | $16.25
P EA T RY CA NS H UupP

$227.86 | $66.30 | $48.75 | $57.50 | $64.50 | $22.50 | $77.70
MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK E TOPIC 2-j: Problem Solving:
© Creative Publications E'29 Discounts and Sale Prices



What Is
the Title?

Do each exercise below and find your
answer in the code. Each time the
answer appears, write the letter of

the exercise above it.

TO FIND THE TITLE OF THIS PICTURE:

CODED TITLE:

$840 $27 $943 $210 $31.50 $36

$425 $421.60$1,800 $1,200 $943 $96 $3,780

$938 $225 $3,810 $1,270 $36  $943 $31.50 $210 $1,340 $31.50 $3,780 $3,780

[. Find the interest.

savings account
deposit: $800
rate: 6% per year
time: 2 years

@ personal loan
borrow: $1,250

rate: 9% per year
time: 2 years

@ money-market fund
invest: $6,000
rate: 8% per year
time: 2.5 years

Il. Solve. (Interest-ing problems.)

@ Aldo put $400 into a savings account
that paid an interest rate of 5.4% per
year. What was the total amount in his
account at the end of 1 year?

savings account
deposit: $1,400
rate: 5% per year
time: 3 years

checking account
deposit: $700

rate: 4.5% per year
time: 1 year

savings bond
invest: $50

rate: 7.2% per year
time: 10 years

auto loan

borrow: $5,000
rate: 12% per year
time: 3 years

credit card cash advance
borrow: $300

rate: 18% per year

time: 6 months

home improvement loan
borrow: $2,000

rate: 10.5% per year
time: 4 years

@ Gretchen invested $1,000 in a certificate
of deposit (CD) that paid interest at a
rate of 9% per year. How much was the

CD worth at the end of 3 years?

(Total amount = principal plus interest)

@ Suzanne borrowed $820 from a bank for
one year. If the annual interest rate was
15%, what was the total amount she

Rolex borrowed $3,600 from a credit

owed the bank at the end of the year?

TOPIC 2-k: Problem Solving: Simple Interest

E-30

union for 6 months at an interest rate of
10% per year. How much did he owe the
credit union at the end of the 6 months?

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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One Number Is of Another
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What Did the Policeman Say to His Stomach?

Use estimation to choose Category |, 11, or lll for each percent. Under each
exercise, circle the letter of the best choice. Write this letter in the box containing

the number of the exercise.

| lessthan 50%

| 11 between50% and 100% | Il

more than 100%

@ 39 is what percent of 60?

®r  E®n m

@ 25 is what percent of 977

OIENOLENOCL

@ What percent of 81 is 707?

OINNOLIENOLL

@ What percent of 70 is 817

OO

@ 9 out of 24 is what percent?

©r @1 @n

@ 300 out of 405 is what percent?

(P! ®n  En

@ What percent of 62 is 927

M1 O

What percent of 110 is 2257

M ®1 @

@ 7 is what percent of 347

E)! GLENGLL

34 is what percent of 7?

(D! OLENGOL

@ What percent is 25 out of 487

OIEEGIENOL

@ What percent is 23 out of 487

Ol OLENOLL

@ Fink’s typing speed increased
from 20 words per minute to 45
words per minute. His old speed
is what percent of his new speed?

OIEOIENOILL

Fink’s typing speed increased
from 20 words per minute to 45
words per minute. His new speed
is what percent of his old speed?

M O ®mn

@ The regular price of a computer is
$980, but it is on sale for $750.
The sale price is what percent of

the regular price?
QL

The regular price of a computer is
$980, but it is on sale for $750.

The regular price is what percent
of the sale price?
G

M OL

R) 1 GL

1115 2 (1419 12|17 (1511 |10 1316 |16
TOPIC 2-m: Estimating the Percent MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK E
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What Happened to the Plastic Surgeon as He &t by

the Fire on a Cold Winter Night?

Z|31%
Find each correct answer and cross out the letter next to it. When you
Q| 26% finish, the answer to the title question will remain. (Round each answer
to the nearest whole percent.)
o [ 94%
< | 86% @ What percent is 5 out of 12?
Ww | 65% @ What percent is 6 out of 7?
o | 34% @ 19 is what percent of 30?
o,
= | 76% @ 6 is what percent of 11?
— | 18%
@ What percent of 16 is 5?
W | 24%
@ What percent of 51 is 127?
—1114%
' ”?
= | 429, @ What percent is 3 out of 707
- | 7% 75 is what percent of 967
< | 17% @ What percent of 18 is 177
W | 56% 1 out of 6 is what percent?
pd y : : :
8% @ Jewelry marked 14-karat gold is —12-% pure gold. What percentis this?
< | 72%
@ Julie has read 27 pages out of an 80-page book. What percent of the
= | 45% pages has she read?
w | 92% @ Kareem shot the basketball 32 times and made 23 baskets. What
percent of his shots were baskets?
| 55%
O | 58% A TV station has 11 minutes of commercials for each 60 minutes of air
time. What percent of air time is used for commercials?
I | 36%
@ The Hawks won 7 games, lost 6 games, and tied 2 games. What
| 47% percent of all the games did they win?
| 63% The human body is 65% oxygen, 18% carbon, and 10% hydrogen. The
o | 49 rest is other elements. What percent is composed of other elements?
o
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E TOPIC 2-I: Finding the Percent
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Why Did the Man in the Shower Say,
" Soap, Soap, Soap?”’

Solve each problem below. (Round percents to the nearest whole percent.) Find your
solution and notice the two letters next to it. Write these letters in the two boxes

above the exercise number at the bottom of the page.

@ On a math test, Miranda got 17 out of 20 problems correct.

What percent of the problems were correct?

(M) 72%

. $3,195
@ Last semester, 150 out of the 800 students at Jungle Junior @
High made the Honor Roll. What percent of the students 25 ft
made the Honor Roll?
@ The width of a singles tennis court is 75% of the width of a $1,514
doubles court. A doubles court is 36 feet wide. How wide is @ 57 1b
a singles court?
@ About 60% of the human body is water. At this rate, how @ 6%
many pounds of water are in the body of a 95-pound
person? @ 37%
Tapes-R-Us is having a sale on HQ tape players. The @ 85%
regular price is $60. The discount is $18. What percent
discount is this? $3,275
Mr. John Doe was figuring out his federal income tax. His
income was $26,800, but he was able to subtract $5,500 in @ $1,444
deductions. He paid 15% of the remaining income in tax. 0
How much did he pay? @ 30%
Steve put $500 into a savings account. At the end of one 27 ft
year, he had earned $30 in interest. What interest rate was
the bank paying? 59 Ib
At Marble Middle School, 35% of the students are 6th 0
graders, 32% are 7th graders, and the rest are 8th graders. 3%
What percent are 8th graders? 33%
@ Mr. Spoke is a salesman at Pop's Cycle Shop. Each month
he earns $800 plus 7% of his total monthly sales. How much @ 8%
did he earn last month if his sales totaled $9,2007 109
0
The area of a 25-inch TV screen is 300 square inches. The
area of a 40-inch TV screen is 768 square inches. The area < ‘\\ "
of the smaller screen is what percent of the area of the \ 25" \4\0
larger screen? N Q S
1
5 2 7 4 9 1 8 6 10 3
o L E-34 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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Why Can't an Elephant Ride a Bicycle?

Do each exercise and find your answer in the corresponding set of answers. Write the
letter of the exercise in the box containing the answer.

@ 20% of what number is 87
@ 25% of what number is 7?
@ 24 is 50% of what number?
33—;— % of what number is 12?
@ 10% of what number is 16?
@ 11is 12—;—% of what number?

@ 1% of what number is 37

I. Find the number. Use a fraction for the percent.

@ 20% of what number is 15?
@ 30 is 25% of what number?
() 450 is 50% of what number?
@ 33% % of what number is 327?
@ 250 is 10% of what number?
@ 50is 12—;—% of what number?

@ 5% of what number is 9?

160 | 75 |800| 96 | 48 | 300 | 60 {2,500

40

72 | 88 | 400|120 |180| 36 |140| 28 | 900

® 40% of what number is 147?
@ 15% of what number is 97

@ 54 is 72% of what number?
@ 33 is 6% of what number?

@ 75% of what number is 967
@ 32% of what number is 4.87
@ 3.6 is 45% of what number?

@ 4.5 is 9% of what number?

Il. Find the number. Use a decimal for the percent.

@ 24% of what number is 54?
@ 80% of what number is 727

® 56 is 56% of what number?

100 |550 | 8 (225 |30 | 75 | 35 |128

375

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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Books Never Written

‘Getting What They Owe You by

16 9 2 15 1 7 1
How to Get Into Shape by
8 13 16 5 10 2 15 7 13 2
Most Embarrassing Moment by
14 9 12 4 14 6 16

ABOVE ARE THE TITLES OF THREE "BOOKS NEVER WRITTEN."
TO DECODE THE NAMES OF THEIR AUTHORS:

Do each exercise below. Find your answer and notice the letter next
to it. Each time the exercise number appears in the code, write this
letter above it.

I. Find the number. Use a fraction or a decimal for the percent.

@ 25% of what number is 167? @ 10% of what number is 807?
@ 36% of what number is 72? @ 4% of what number is 257

@ 92% of what number is 69? @ 65% of what number is 5.2?
@ 20% of what number is 3.47 44% of what number is 55?

16 . .
@ 3373 %o Of what number is21? 50% of what humber is 7.5?

Il. Solve.

@ The fastest speed recorded for a runner is 27 miles per hour. This is
20% of the fastest speed for a water skier. Find the record for a water
skier. _____mph

Bowser’s dog food is 60% meat. If Bowser needs 24 oz of meat each
week, how many ounces of dog food should he eat? 0z

@ The length of a ship model is 3% of the length of the actual ship. The
model is 1.5 m long. How long is the actual ship? m

Students at Lincoln Middle School sell gift wrap to raise money for
student activities. The school keeps 40% of sales. How many dollars
worth of gift wrap must be sold to make $1,000? $

@ An airline knows that only about 75% of those who make a
reservation actually buy a ticket. At this rate, how many reservations
should the airline accept to fill a plane with 180 seats?

Safe Side Bank pays an interest rate of 8% per year on certificate
accounts. How much money must be put into an account to earn $60
in one year?

TOPIC 2-0: Finding a Number MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK E
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What Isthe Best Way to Serve Lion Meat?

Solve each problem and find your answer in the rectangle below. Cross out the box
that contains your answer. When you finish, write the letters from the remaining

boxes in the spaces at the bottom of the page.

A person standing on the moon would
weigh 16% of his weight on Earth. If
Astro Knot weighs 150 Ib on Earth, how
much would he weigh on the moon?

Ib
There are 7 oz of sugar in a 16-0z box
of Honey Hunks Cereal. What percent
of Honey Hunks Cereal is sugar?
(Round to the nearest percent.)

%

A salesman keeps 20% of his sales as
a commission. How much does he have
to sell to earn $1,0007? $

The regular price of an FX-I electronic
keyboard at Circuit Circus is $200. It is
on sale at a 25% discount. What is the
sale price?

A baseball player got 10 hits in 39 times
at bat. What percent of his times at bat
did he get a hit? (Round to the nearest
percent.) Yo
A math class has studied the first 330
pages of their textbook. If this is 75% of
the entire book, how many pages are in
the book?

@ The tallest man ever recorded was

Robert Wadlow, who was 272 cm tall.
The tallest woman on record was Zeng
Jinlian. Her height was 91% of
Wadlow’s height. How tall was Zeng
Jinlian? (Round to the nearest cm.)

cm
A color called "Passion Purple" is made
by mixing 5 oz of red paint with 9 oz of
blue paint. What percent of Passion
Purple is blue paint? (Round to the

nearest percent.) %

The height of a model rocket is 4% of
the height of the actual rocket. The
model is 1.8 m high. How high is the

actual rocket? m

Jennifer's new bike cost $180. Her
parents paid 40% of the cost and
Jenniferpaid the rest. How much did
Jennifer pay?

In a poll two weeks before the
Presidential election, 37% of the people
said they would vote for the Democrat,
42% said they would vote for the
Republican, and the rest were
undecided. What percent were

undecided? %
LI ON AS A Wi TH IS EM EA
5,000 248 66 24 21 114 26 42 108
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102

728

24

What Do They Call the Guy Who
| nvented the Firs Blue Jeans?

360

29

Find each answer and cross out the letter next to it. When you finish,

the answer to the title question will remain.

25.4 s

105

97

84

5.2

7.4s

86

14

38.5

41.6in.

420

103

7.7s

99

81s

26

92

276 s

94

40.8 in.

26.5s

89

5.5

1. The scores of 5 golfers on 3 rounds of
miniature golf are given in the table.
Find each of the following. (Round to
the nearest point.)

A. The mean of Ray's scores.
B. The mean of Juli's scores

C. The mean of the scores in Round 1.

D. The range of Hal's scores.

E. The range of the scores in Round 1.
F. The range of the scores in Round 3.

2. Find the mean of the first 10 counting numbers (1 through 10).

3. Find the mean of the squares of the first 10 counting numbers.

4. Practice times in the 200-meter dash
for 7 runners are given in the table.
Find each of the following. (Round to
the nearest tenth of a second.)

A. The mean of Raul's times.

B. The mean of the times on Trial 1.
C. The range of the times on Trial 1.
D. The range of the times on Trial 2.
E. The range of all the times given.

Round | Round | Round
Name 1 2 3
Ray 87 104 99
Hal 108 107 94
Juli 94 83 100
Jack 116 92 119
Kay 103 96 120
Trial 1 Trial 2
Name (s) (s)
Lewis 24.4 25.1
Raul 27.2 23.6
Edwin 30.6 275
Renaldo 24.1 26.3
Chen 26.0 28.4
Steve 31.3 30.9
Hector 29.9 31.0

5. The mean of 4 test scores is 90. What is the sum of the scores?

6. If the mean rainfall in New York City was 3.4 inches per month, what was

the total rainfall for the year?

7. Each student listed in the Name | Testl | Test2 | Test3 | Test4
table has taken 3 math Bill 78 78 78
tests. Find the score each Jill 68 79 74 -
student needs on the next Phil 72 82 82 -
test in order to have an Will 91 64 76 -
80 average.

8. Huck’s bowling average over 5 games was 100. He scored 118 on the
next game. What was his new average?
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What Happened totheCat Who

Swvallowed aBall of Yarn?

Cross out the box containing each correct answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

@ Find the median for each set of data. F Price of Zark VIl game at
A. 49 32 67.55. 58 various software stores
B. 3.1,5.2,44,5.0, 3.8, 2.6, 4.7 $41.75 | $43.89 $42.50
C. 29, 12, 30, 22, 7, 23, 36, 15, 18, 9 43.40 42.95 39.95
D. 81.6, 83.7, 78.5, 82.8, 81.2, 76.3, 83.5, 78.9 gggg jggg jggg
E. 110, 115, 109, 110, 116, 113, 112, 116, 110, : : :
106, 113
@ The weekly salaries for 5 people who ——— - $45.000
work at a Las Vegas hotel are given aror stage snow !
in the table Hqtel manager 2,000
n : Chief chef 1,500
A. What is the mean salary? Publicity director 1,100
B. What is the median salary? Lifeguard 400
@ Find the mode (or modes) for each set of data.
A. Suit Sizes B. | Timesin 50-m Dash (s) C. Runs Scored
36 | 39 | 40 57|63 (67|69 371218 1|4
37 | 39 | 41 5963|6770 14|05 |7
37 | 39 | 41 60|64 (68|72 212|415
38 | 40 | 41 60|65 |69 |73 711|516 |7
gg :g ii 6.2|65|69|73 ols|3]|2]2
29 | 40 | 44 6367|6975 6149|519
@ The table_ gives typing speeds for 12 Speed Speed
students in words per minute (wpm). Name (wpm) Name (wpm)
Find the following for this set of )
data Danny 31 Allison 30
) Celeste 27 Ramon 24
A. The range Michael 15 George 18
B. The mean Kalon 31 Jackie 35
C. The median Matt 24 Kim 28
D' The mode (Or modes) Rachel 13 Robert 24
TH SH ON E oW EH T GL AD SO M
25.5 wpm 3 20 [22wpm | $1,500 |27 wpm | 6.9s 112 821 |24wpm| $11,200
E KN IT IS CA TE AM YA NK NS RN
2and5 | $42.70 | 655 55 |25wpm| 38 | 814 40 4.4 $43.20 | $10,000
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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According to Math Teachers,
What did the Acorn Say When It Grew Up?

Do each exercise and find your answer at the bottom of the page. Write the letter of
the exercise in the box above the answer.

I. Use the pictograph at right to answer each question.

@ How many albums does a whole symbol
represent? Disco Bob's Record Collection
@ How many albums does half a symbol
represent? Type Number Owned @) = 20 albums
How many classical albums does Disco | ¢lassical
@ Bob own? 000
@ How many country albums does Disco soul 000«
?
Bob own* | jazz O ¢
@ How many more soul albums than jazz
albums does Disco Bob own? rock 00000000
@ Disco Bob paid an average of about countr
$8 for each of his rock albums. Y O00O0O0¢

About how much did he spend
altogether for his rock albums?

Il. The table below shows how many computer games were sold by Action Games Software
in June. Round each number to the nearest 50 games. Then complete the pictograph,
using whole symbols and half symbols, and answer the questions below.

Kong IV 554 Outland 663 Action Games Software
Vindicator 387 Bug Attack 319 June Sales
Stellar 9 246 Megatron 795
Game Number Sold =100 games
How many symbols did you draw for , ,
@ Vindicator? Kong IV |:| |:| |:|
@ How many symbols did you draw for Vindicator
Outland?
@ How many symbols did you draw for Stellar 9
Megatron? outland
® For each game sold, Action Games
made a profit of about $10. Bug Attack
Give an estimate of their total
profits on these games in June. Megatron

L 11

140 8 110 $1,280 50 20 6% $24,000 60 7 40 $30,000 10 4 $1,360
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What Do You Call a Fake Chart?

Circle the letter of the better answer
for each exercise. Write the letter in
the box containing the exercise number.

Skiers at Colorado Mountains
January 15

— —r
- N

1. How many skiers were at Aspen?
(C) 9 (A) 9,000

. How many skiers were at Telluride?
(Y) 4500 (V) 5,000

How many more skiers were at Vail
than at Keystone?
(K) 7,000 (P) 8,500

. How many skiers were at the four
mountains altogether?
(M) 30,000 (H) 28,000

. What was the mean number of skiers
at the four mountains?

(0)7,000 (B) 6,500

. How many games did the Bears win?
(S) 30 (A) 25

. How many games did the Boars lose?
(F) 39 (G) 37

. How many more gameé did the
Hawks lose than win?

(L) 6 (N) 4

. How many more games did the
Rats win than the Boars won?

(P) 19 (T) 16

Which team won twice as many
games as it lost?

(E) Doves (R) Rats

What fraction of its games
did the Doves win?

10.

11.

—

= N W HOTO N OO OO

Thousands of Skiers

o

Aspen Telluride Vall Keystone

0 5 10 15 20 25 30 35 40
H L w2
Games
[6311582710194'
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1. Use the data below to

make a bar graph

showing the heights of
five famous towers.

Famous Towers
Height
Tower (ft)
Eiffel Tower 986
CN Tower 1,822
Sears Tower 1,454
Empire State 1,250
Building
Washington 555
Monument

2. The Student Council took a
survey to find what percent

of the students had seen

four recent movies. Use the
data below to make a

double-bar graph showing

the percent of boys and girls

who had seen each movie.
Begin by completing the

horizontal and vertical

scales.

Movie Attendance

Movie Boys

Girls

Spooks 55%
Love Potion 23%
Robot War 42%
Beach Blast | 38%

30%
29%
16%
47%

TOPIC 3-d: Bar Graphs

Percent of Students

Bar GraFun

TITLE:
| I 1 1 I I 1
Eiffel CN Sears Empire Washington
Tower Tower Tower State Monument
Building
TITLE:
15
10
5
o J I B [ 1 | [t 1 1 1 1
B G B
Spooks Love Robot Beach
Potion War Blast
B=Boys G =Girls
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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How Do Y ou Repair a Broken Tuba?

Pe % o%0 %%
oqeageeleniecle

Complete each table. Write the letter for each frequency in the box above the cor-
responding value at the bottom of the page. Make a histogram for each set of data.

x3

9

°
%

Test Scores for 40 Students

80
71
91
64

89
99
77
85

66
44
61
75

73
88
83
72

60
80
57
94

97
69
88
66

53
72
49
84

79
83
77
77

70
86
75
86

58
76
95
82

Score

Tally

Frequency

41-

50

51-

60

61-

70

71-

80

81-

90

91-

100

ls|(>»|m|Hd]|c

Weights for 100 Students (kg)

53
56
46
68
53

61
44
50
42
63

55
38
50
50
52

48
48
52
46
60

64
52
43
55
54

58
54
56
62
49

45
45
36
59
65

63
41
51
51
58

55
53
42
52
54

44
58
47
47
38

48
64
54
58
40

53
44
47
61
48

66
56
56
46
62

49
39
53
36
51

56
68
53
57
63

63
52
41
48
42

48
44
59
54
57

48
59
50
45
55

62
54
38
60
43

54
46
55
52
52

Weight

Tally

Frequency

36-40

41-45

46-50

51-55

56-60

61-65

66-70

W(r|id|—|c|xT|>

Frequency

14
12

10

Frequency
»

®0 4% o% o +%
P T

41-50

51-60
61-70
71-80
81-90
91-100

Score

36-40

41-45

o
(o}

O
n

=
e

51-55
61-65
66-70

(o]
<
Weight (kg)

10

28

4

14

13

16
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What Happens to a Man Who Carries an Ax in His Teeth?

Circle the letter of the better answer for each exercise.
Write the letter in each box containing the exercise number.

Pulse Rate During and After Exercise

10

140
=
£ 130
5 120 —]
a
o 110
2 100
2
3
£ 80 N\
70 %
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32
Exercise Time (min) Rest
Car Sales Last Year
60
I I ‘L
— Turbo /7
B—J 50 Torque
7] -t /l
w
2 40
8 %
g 30 | /L/‘ /
o Dt S }
5 r <
§ 20 » > o
3 -
2 - -
= 10 ~=37”
0
J F M A M J J A S O N D
Month
D 3 8(3 25 7101 11|11 136{9411

f

What was the pulse rate when exercise started?
(©) 70 (V) 73

How much did the pulse rate increase by the end of
the first 4 min of exercise?

(T) 48 (B) 54

Estimate the highest pulse rate on the graph.
(S) 133 (E) 139

What is the range of the pulse rates?
() 69 (W) 72

The pulse rate at the start was about what fraction of

the highest pulse rate?

(8) + (A 5

About how many Torques were sold in February?
(N) 22,000 (D) 26,000

About how many more Turbos were sold in
December than in January?
(L) 36,000 (C) 40,000

In what month were about 19,000 Torques sold?
(G) August (R) September

About how many more Turbos than Torques were
soldin July?
(M) 12,000 (L) 16,000

In what month were about the same number of
Turbos and Torques sold?
(H) October (U) November

What is a reasonable estimate for sales of Turbo
cars in January of this year?
(P) 50,000 (N) 60,000



1. Use the data below to make a line
graph showing the temperature
each hour for a day.

L ine GraFun

Hourly Temperatures

AM. P.M.
12:.00 49°F 12:00 61°F
100 47 1:00 62
2:.00 46 2:.00 63
3:00 46 3:00 65
4.00 45 4:00 65
5:00 46 5.00 64
6:00 48 6:00 60
7:00 51 7:00 58
8:.00 53 8:00 56
9:00 54 9:00 52
10:00 57 10:00 51
11:00 59 11:00 48

2. Use the data below to
make a double-line graph
showing the number of

visitors at two amusement

parks each day for a week.

Begin by completing the
horizontal and vertical
scales.
Dally Attendance
Water Animal
Day World Land
' 7,967 5,140
Mon 3,512 1,864
Tues 3,833 1,328
Wed 4,760 2,465
Thur 4,184 5,730
Fri 5,675 3,291
Sat 9,326 4,622

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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Thousands of Visitors

TITLE:

65
L 60
L
o
=
§ 55
@
o
5
et 50

'
45
122 4 6 810122 4 6 810
AM. P.M.
Time
TITLE:
2
.1
0
S M T
Day
KEY: ——— Water World ---- - Animal Land
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WHO MAKES RAINWATER MI1X WITH DIRT?

Cross out the box containing each correct answer. When you finish, write the letters

from the remaining boxes in the spaces at the bottom of the page.

@ A lion tamer spent a total of $400. The circle
graph shows what percent was spent on each

item. Find the amount spent on:

A. costumes; B. chairs; C. whips.

@ What percent of the total was spent on lion

toys?

@ How much money was spent on lion toys?

@ What percent was spent for chairs and whips

combined?

@ How much money was spent for chairs and

whips combined?

@ During the first week of summer vacation,

Bosco spent 50 hours watching TV. Use the
circle graph to find the amount of time he
spent watching:

A. comedies; B. game shows; C. movies.

@ What percent of the total time was spent

watching soap operas?

How much time did Bosco spend watching

soap operas?

How much more time was spent watching
sports than movies?

What is always the sum of the percents in a

circle graph?

Lion Tamer's Expenses
total: $400

Costumes

35%

Lion toys

%

Bosco’s TV Viewing
total: 50 h

Comedies
32%

Sports
14%

Movies
10%

TOPIC 3-g: Circle Graphs

TH AT MU CH ST Ki DD AL oV ER
19% | 27% | 3.5h |100% | $140 |125h | 23% | $152 | 9.5h | $112
NA ME AL TU RN | ON CA RE ST uP
$144 | 16h | $88 | 11 h 2h | $108 5h | 50% | $64 | 38%
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Why Did King Kong Play with
the Flying Saucer?

Complete each table. (Round each answer to the nearest
whole number, if necessary.) Write the letter for each
answer in the circle at the bottom of the page that contains
the answer. Construct a circle graph for each set of data.

Instruments in the Arithmics Rock Band

Family of | Number of | Percent Central
Instruments | Players of total angle
Brass 7 (H) (T)
Woodwind 4 (E) (G)
Strings 5 (A) (O)
Percussion 3 (S) (E)
Keyboard 1 (T (1)

TOTAL 20 100% 360°
Clubs at Jaws Junior High
Number of | Percent Central
Club Members of total angle
Drama 22 (A) (H)
Crafts 27 (U) (S)
Computer 16 (E) (1)
Magic 10 (F) (T
Games 15 (H) (B)
TOTAL (W) (R)

TOPIC 3-g: Circle Graphs
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Why Did the King’s Birthday
Celebration Last So Long?

Do each exercise and find your answer in the
Code Key. Notice the letter under it. Write this
letter in the box containing the exercise number.

codal L L 23 [2]{4]5]2][1]3
K°e1005555 13|13 7 |8 |8
Y T RITIs NI I | KIPIEIW]|Y|H

. Find each probability if you spin the spinner once.

@ P(red) @ P(green)

@ P(blue or white) @ P(not yellow) Y
@ P(not red) @ P(blue or red or yellow)

. Find each probability if you choose one card at random.

P(striped) P(white 7 7

@ (strip (white) A0

@ P(shaded) P(white or shaded) V/

@ P(striped or white) @ P(striped or shaded) 4

@ P(not striped) P(not white)

@ P(striped or white or shaded)

lll. Solve.

What is the probability of guessing @ What is the probability of guessing
the correct answer to a multiple the correct answer to a true-false
choice question if there are 5 question?
choices?

‘ What Is the probability that your @ What is the probability of winning a
birthday will fall on Saturday or raffle if 500 tickets are sold and you
Sunday? buy 5 of them?

. A class of 25 students has 15 girls @ There are 26 letters in the alphabet.
and 10 boys. If one studentis What is the probability that a letter
chosen at random, what is the chosen at random is in the word
probability it is a girl? MATHEMATICS?

5|1 |1818 |3 |14|6 |17 |13 |10|15|20| 4 |11 |7 |16(21 |12 |19|2 |9
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When the Boy Tire Maker Married the
Girl TireMaker, What Did Everyone Say?

Do each exercise and find your answer at the bottom of the page. Write the letter of
the exercise in the box above the answer.

1. Suppose you roll a regular 6-faced die. ===

) 0

@ How many equally likely outcomes are there? @QW p
e

@ If you roll the die once, what is the probability of rolling a 37

@ If you roll the die 60 times, about how many times would you expect to geta 17?

@ If you roll the die 300 times, about how many times would you expect to get a 57
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENOGCOOGOOOCOO

2. A spinner is shown at the right for which each outcome is not equally likely.

@ If you spin the spinner once, what is the
probability that it will stop on A?

If you spin the spinner once, what is the B
probability that it will stop on B?

@ If you spin the spinner 50 times, about how A C
many times would you expect it to stop on A?

@ If you spin the spinner 80 times, about how
many times would you expect it to stop on C?

3. Find each probability if you choose one marble at random.

(E) P(black) (S) P(striped) % . % O %
(A) P(not black) (E) P(not white) ‘ % % ‘ %
® P(black or white) @ P(yellow)

4. Solve.

If you flip a coin 150 times, about how ® If you randomly pick a date in April,
many times would you expect to get how many equally likely outcomes are
heads? there?

@ The letters a, e, i, 0, u, and y are ® A magician asks you to pick a card,
vowels. If one letter of the alphabet is any card, from a standard deck of 52
chosen at random, what is the cards. What is the probability of
probability it is a vowel? picking an ace?

JE 1 1271 8l1ap/8[1]1]2|3
251101752050 16130 5 I35|35| 5 /7% |%0 |13 & 32| 5| 73| 7| 5|70
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Why Was Jesse James
In the Hospital?

Find each answer in the code at the bottom of the page. Write the
letter of the problem above the answer each time it appears.

If you spin each of these spinners once,
how many possible outcomes are

yoyYar
KD

@ The students at Melmac Middle School
are trying to choose a school mascot
and a school color. The suggestions for
mascot are lion, bear, and porpoise.
The suggestions for color are red, blue,
and gold. How many different
combinations are there?

® Mr. and Mrs. Quagmire are trying to
decide on a name for their new baby
girl. For a first name, they like either
Melissa, Jennifer, Karen, Lisa, or
Susan. For a middle name, they like
either Anne or Jean. How many
different choices do they have?

@ Elmo decided to take two classes
during summer school. For first period,
he can choose either math or English.
For second period, he can choose
either art, music, drama, or cooking.
How many different schedules of two
classes are possible?

@ If a baseball team has 5 pitchers and 3
catchers, how many different pitcher-
catcher combinations can be used?

@ Glitzy just bought 4 blouses, 5 skirts,
and 2 blazers. If all the patterns and
colors match, how many outfits can she
make?

@ Pizza Mind Pizza Parlor has 8 kinds of
pizza, 3 kinds of salad, and 4 kinds of
beverage. If you order one item from
each category, how many different
meals can be ordered?

According to the map, how many
different routes are there from Ato D?

@ Shoe World sells shoes in 20 different
styles. Each style comes in 4 colors and
9 sizes. If the store manager wants to
have every possible combination, how
many pairs must he keep in stock?

® In Cornville, bicycle license plates have
2 letters followed by a 1-digit number.
How many different license plates are
possible?

@ When you order a sandwich at Nelly’s
Deli, you can choose from 4 kinds of
bread and 7 kinds of meat. On any
sandwich, you can have mayonnaise or
mustard or both or neither. How many
different sandwiches can be ordered?

CODED ANSWER
40 9 92 18 8 112 880 8 24 112 15 6,760 6 112 40 720 720 96 9 10
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What Do the Police Put On a Bad Pig?

Cross out the box containing each correct answer. (If an answer appears more than
once, it doesn't matter which one you cross out.) When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

. Find each probability if you spin both spinners.
P(white, A) white, B)

P(striped, A) striped, B)

@@@

P(not striped, A)
@ P(not white, A)

. Find each probability if you spin the spinner and roll the number cube.

@ P(blue, 2) (10) P(blue, not 2)

@ P( yellow, even) P(red, even)
(13) P(not blue, 5) (14) P(not blue, odd)
P(red, 4) (16) P(red, not 4)

lll. Find each probability if you pick one marble,
replace it, then pick a second marble.

(17) P(black, white) (18) P(black, striped)
P(white, striped) P(not white, striped)
(21) P(black, black) (22) Pistriped, striped)
(

@ P(white, not white) . P(not white, not white)
IV. Solve.

P(
P(
P(not striped, B)
P(not white, B)

G@@@

@
@EEE

@ A test has two multiple choice One letter is randomly selected from
questions, each with five choices. the word MATH, and a second letter
What is the probability of guessing Is randomly selected from the word
the correct answer to both questions? JOKES. What is the probability that

both letters are vowels?
A/ T|  T|N|O H E|E|A| T|P|P|]I |[M G|C]|O
A 1y 1p 1010101101 010101
3 1 414 516 /71818119 /1012112115116 | 18 | 20 | 24
T H O U G S S L F| A E E F| A T S E
1/1|2|2|2|2 2|3|3|4/4/4|/5|5 57|38
253657i>15.158?6?ﬁ158I12241515
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What Do You Get if a Bunch of
Bad GuysFall in the Ocean?

Cross out the box containing each correct answer. (If an answer appears more than
once, it doesn't matter which one you cross out.) When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

Find each probability if you pick a card, do not replace it, then pick a second card.
P(black, then white) ~ (2) P(black, then black) -
P(white, then black) @ P(white, then white)

OIOM

Il. Each letter of the word BANANA is written on a card. Find each probab|I|ty if you plck two
cards without replacing the first.

PB.thenN)  (6) P(B,then”s)  (7) P(N, thenB) E
P(N.then”)  (9) P(A, thenB) P(A, then N)

P(N, then N) @ P(A, then A) @ P(B, then B) El
lll. Find each probability if you pick a marble, do not replace it, then pick a second marble.

(R =red; B = blue; G = green)

P(blue, then green) @ P(green, then red)

SJOIC)

( (
P(green, then green) @ P(green, then not green)
P(red, then blue) P(red, then not blue)
P(blue, then blue) @ P(not blue, then not blue)
IV. Solve.

~®EEG

@ There were 6 purple socks and 4 There are 10 boxes in a grab bag. The
orange socks in a drawer. Zucky picked boxes are identical except that 7 of
one sock without looking and then them contain $20 bills. A contest winner
another without looking (or replacing gets to pick two boxes from the grab
the first). What is the probability that he bag. What is the probability of getting
picked 2 purple socks? two $20 bills?

TH | AN [ IT IT IT { PL | AC | ES | EY | EY | ON | ON | RI | DE

SN I N O A S O N O A A O A A R e
O ! 3|5 |5 |5 |6 |8 ! 9 |10,1 |72 |12]| 74|15
DE | DE | SO |ME | ET | WA | TE { AM | LL | RS | VE | RY | ST | ST
1112123415 |5 |5 7|7 |7 |15 15
15 | 15 | 36 5 28 9 12 | 14 | 18 15 | 18 | 36 | 56 | 56

T r
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Why Couldn't the Church
Steeple Keep a Secret?
Solve each problem below and find your solutionin th;

answer column. Write the letter of the answer in each
box containing the number of the problem.

In how many ways can you arrange 6 things?
In how many ways can you arrange 6 things, 3 at a time?

Maria keeps her 4 stuffed bears lined up on a shelf over her bed.
How many arrangements of the bears are possible?

How many different 2-letter arrangements can be selected from the 5
letters in the word CANDY?

Eleven people are competing in a sack race. There is a blue ribbon
for first, a red ribbon for second, and a white ribbon for third. How
many different first-second-third place finishes are possible?

David has decided he wants to call Jessica, Martha, and Eileen, but
he hasn't decided in what order to call them. How many choices does
he have?

The teacher plans to assign 8 students to 8 desks for a debate. How
many different seating arrangements are possible?

In how many different ways can a president, vice-president, and
secretary be elected from a class of 32 students?

@ If a school offers 9 different subjects, how many different schedules

of 5 classes are possible?

Tak-Kee Plastic Company prints a 2-letter code on each of its
products. How many different 2-letter codes can be formed using the
26 letters of the alphabet if the two letters must be different?

@ Surelock Lock Company makes combination locks with 50 humbers

printed on the dial. Each lock combination is an arrangement of 3
different numbers. How many locks can the companymake without
repeating a combination?

[ ]
[ ]
e ®690
[ ]

[8

4 /2 |102 |1 )11 |&5 | 1}7 591|813

11
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Why Did the Bank Robber Run
Home and Jump in the Shower?.=

HoFH
)

l
M

SUOIBDI|grd 8AllESID ©

Write an integer for each situation. Find the point on the number line that
corresponds to the integer. Write the letter of the exercise above the number

e

1

REael

i

3 X008 iZZvZZId HLIM H1vIA TOOHOS 31adain

e =
{“U"’ J__ line at that point. , / =
5- <7 - !
e L 8 e =) =~
-
&7 H<e S T W R S
-} ] ] ] ] | | | 1 ] | | ] | ] i | ] 1 | ] | L 1 A4 | |
I 1 1 | 1 | ™ i 1 L | L i ] I L il I L 1 | 1 ! |} 1 !
-15 -10 -5 0 5 10
@ 3 units to the left of 0 @ aloss of $14 @ score 10 points
o —
the opposite of 13 @ 11 fewer members @ 8 steps forward
@ 2 units to the right of 0 @ an increase of 5 miles per hour @ the opposite of 7
@ the opposite of -11 @ 2 km below the surface @ the opposite of -13
@ 8° below zero @ 15 s before blastoff @ not positive or negative
(s) againof 61b (W) a withdrawal of $9
@ a deposit of $15 @ up 4 flights
o :
2 ® 6 ft below sea level @ put in 14 gal
2] @ againof 9 yd @ 5 years ago
‘é @ 1 point higher @ a debt of $12



Why Shouldn't You Let a Doctor Put
One of Those Sticks in Your Mouth?

Circle the appropriate number-letter next to each exercise. Write the
letter in the matching numbered box at the bottom of the page.

I. For each exercise, write > or < in the O

> < > <
@ 8 -3 60 [17L| (9) -5 () 20 29-M | 8T
@ 40 -9 28-E | 20-G 7() o 1-S | 33-A
@ -5 s2s [15w| () -138 () -14 26-1 | 13-D
@ =20 - 3-U | 8B @ - () 50 30-F | 12-0
G -8() 7 33V |23H| (13 -25 () 18 7-R | 22-T
(6) -12 () -5 26-P | 10-K 99 () -100 32-E | 18-S
@ 4O 24-4 | 170 | (15) -99 () -100 1Y | 8X
1 () -10 20-E | 12-] o () -100 13-W | 34-L

Il. For each exercise, decide whether the integers are in order from the least to the greatest.
yes no yes no
(17) -9,-2,5 18-A | 25-M -38,-24, 19, -10, 3 5G | 30-C

-8,0,71,9 16R | 24E | (21) -44,-40,0, 16, 45 7N | 27p
-12,-7,-5, 6,15 2-0 [ 19F | (22

lil. For each exercise, decide whether the integers are in order from the greatest to the least.

-58, -60, 4, 59, 61 31-L | 16-H

yes | no yes no

@ 12,-1,1,-17 4-R | 34-M 90, 9, 0,-90,-9 31-H | 19-T
14, 6, 0,-13,-15 5-D | 21-S @ 25,11, -8, -7, -15 14-B | 27-C
@ 32,30, 29, -5, -85 9-A | 11-N 4,2,0,-2,-4,-42 31-R | 23-U
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How Isa MouseLike Grassin a Meadow?

For each exercise, identify the integer that results from combining the two arrows.
Write the letter of the exercise in the box containing the answer.

@ - 4 -< -3 @ 8 > 8 —
- [}) — - (:) >
! —> 6 >
® 2 ® S
- +— » - — >
0 0
- =15 - =10 - -12 - —-12
0 0
_3 . 4
A 5 O
- 4 - e —
0 0
4 <
@ 7 . @ 18 .
- —} o -— —
0 0
-14 _ _
@ - 0 @ - 20 - 30
- —} » -+ —»
0 0
- T 100
@ 5 @ - 100 B
- 'y » -+ - —
0

16 3 |24 | 4 5

5 | 6 |25 0 =7 | 12 L—z =50 | 1 -5
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When Do a Bunch of Cold Germs
Cdebratea Victory?

Do each exercise and find your answer in the corresponding set of
answer boxes. Write the letter of the exercise in the box containing
the answer.

(E)-3+-4 (1)-20+-30
(N)-8+-5 A7+
H)-7+-7 (B)-9+-2
(T)-1+-16 ®_4+_4o (H)13+2+6

On first down, the Vultures lost 6 yd. ® A scuba diver dove 18 ft below the
On second down, they lost 5 yd. On surface to observe a school of fish.
third down, they lost 8 yd. Use an Then he dove another 24 ft to the
integer to express their overall bottom. If he started at sea level,
change in position as a result of the what was his elevation when he
three plays. yd reached the bottom? ft

22 |-14|-19|-44| 18 |-17| 21 | -7 |-10|-36|-11 |42 |-50 |-13 | -27 | -18 lSi

(s)-83+-15 (0)-47+-20 (E)-7+-13+-6
(E)-29+-64 (E)-8+-75 (T)-19+-48 +-5

(A)-41 +-58 (5)35+39 (H)-25+-25+-25

(D72+16 (N)-87 +-24 (z)-8+-8+-8+-8

The temperature at 10 AM. was ~7°F, @ Rolex wrote a check for $45. The

By noon, the temperature had next day, he wrote a check for $32.
dropped 12°F. By 2 pm, it had Use an integer to express the change
dropped another 5°F. What was the in his bank balance when the two
temperature at 2 PM? °F checks were cashed. $

24 1-99 |-111|-76 |-72 |67 | & |-75| 88 | 74 |-27 |48 |-77 |-26 |-93|-32 |-83
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Why Didn't the Butterfly
Go to the Dance?

Write each answer, then mark it in the answer column. For each set of
exercises, there is one extra answer. Write the letter of this answer in

the corresponding box at the bottom of the page.

-5+2 Answers: 9+-4

1 7+-3 W4 (©)-3 8 34+-7
4+-6 A™-8 (K)-10 -6+ 15
1 +-8 71

2 -6 +-12 ®7 L1 9 -5+-12
-2+9 -7 Q)-8 9+-20
-7+6 -4+-3

3 5+-8 @-1 (N)-3 10 -4+3 ©-7 R)1
12 +13 (V)25 (H)18 4+-3 M7 (©-
-10 +-10 -8+18

4 17 + -1 @16 (T)-8 11 6+- 19 (N 10 (W)-16
1145 (R)-20 (B)-6 13+5 @18 (5)-13
4+-9 11 +-2

5 -7+4-15 A 14 (09 12 ~7 + -4 12 )
-3+12 (P)-22 (C)-5 ~15+8 -7 (1)
16 + -8 -6+ 12

6 5420 Ms (T)15 13 99 +-99 P -2 @©)s
-6+6 (5)-4 Wo 3t-5 ®o (B)-4
13 +-4 -20+-30

7 7 +2 ®-s @)-17 14 70 1- 40 (Y)-50 (M) 50
14 +-16 B2 (010 -70 440 N30 (7)-30

8 | 4 | 1 6 914710313L5 2 | 12

e X S —



Who Saw the Brontosaurus Enter the Restaurant?

Cross out the box containing each correct answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

(5) =70 + 20 + 30
(6) 33+24+-9
@ 4+-5+2+6

(8) ~11+8+-1+7

@ 14 +79+20 + 2
29+74+25+3

1) 18+-12+5+-6
(12) 45 + =10 + =20 + 30

@ On Monday, the high temperature in
Frostbite, Alaska, was ~5°F. On
Tuesday, it rose 14°. On Wednesday,
it dropped 20°. What was the
temperature on Wednesday?

At its first stop a bus picked up 10

people. At the next stop, 8 people got
on and 3 people got off. At the third
stop, 5 people got on and 12 people
got off. How many passengers were
then on the bus?

A nutrition expert rated the relative nutritional

values of many foods. A few ratings are >
shown in the table. Ratings of different items Nutrltl(?n Scoreboard
can be added to get an overall score for a potato (medium, baked) 71
meal. Find the overall score for each of the orange juice (6 0z) a7
following meals. white bread (2 slices) 44
hamburger bun 36
Peanut butter (2 thsp), jelly (1 tbsp), gg&':(q“"r'; égiarzg) gg
white bread (2 slices), apple. potato chips(l 07) 1=
@ Hamburger (3 0z), American cheese (1 peanut butter (2 tbsp) 5
0z), hamburger bun, whole milk (8 0z). hamburger, regular (30z) -4
jelly (1 tbsp) -6
Potato chips (1 0z), Hostess Twinkies (1 egg (1 large) -7
pack), Coca-Cola (12 0z). American cheese (1 02) -9
butter {1 pat) -13
@ 2 large eggs, 1 slice of white bread, Hostess Twinkies (1 pack) -34
butter (1 pat), orange juice (6 0z). Coca-Cola (12 0z) -55
AF IT AT | TH EY | FO | OO | EF ED AT | CH IN
0 51 2 -13 8 —5 5 42 57 | 29 | 66 6
EE | NT | ER | HO | LE | SS |OM | EA | TS | ON | AW | AR
-15 3 14 9 | -74 |-3°F| -7 -1 |-11°F| -20 | -62 | 53
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Why Do Some People Say That
Captain Kirk HasThree Ears?

Do each exercise and find your answer in one of the boxes at the bottom of the page.
Wirite the letter of the exercise in this box. (To make it easier to find each answer, the

answers are arranged in order from smallest to largest.)

-3--13
-15-5
-1--20

(a) 624
(D) -7--15
(H) -13--1

-10--60

-80 —-50
~7--10
(R) 13-20
-14 — 11
() 2418
-5--2
-6 ——26
-12 -1

-6 —-8
-10—-2
@ 3--15
-11 -4




13

21

20

-12

T S N OWP E N

-15

100

T HLSBROVEAGRETUDMYE S
|

TOPIC 5-g: Review: Addition and Subtraction

What Did Cupid Say When Asked:
"Wherels There Honey Underground?”

Do each exercise and find your answer in the answer column.
Cross out the letter next to it. When you finish, the answer to the
title question will remain.

(1) 6+(4-7) (3) (-3+8) +(10-1)
(@) 9+(2-8) (10 6-7)+(-11 +-2)
(3) 12+ (-1 +5) (1) (5--4)+(5-4)
(4) -3-(3-10) (12) (-2 +-6) + (20 +-18)
(5) (2+15)—-4 @) (7-1)-@3+7)
(6) (5--1)+-8 (-11 + 6) — (9 — 10)
(7) (9-16)+2 (15) (6+-8)-(3-4)

(4 +-7)--12 (1--99) — (-1 + 99)

A scuba diver was swimming at an elevation of -8 meters. A shark
was swimming at an elevation of -29 meters. Find the difference
between these two elevations. m

Gizmo had a balance of $100 in his checking account. One day he
wrote checks for $33 and $20. He also made a deposit of $41. What
was his new balance?

WORLD RECORD: The greatest temperature change ever recorded
in a single day occurred in Browning, Montana, in 1916. The
temperature dropped from 44°F to “56°F. What was the change in
temperature? °F

WORLD RECORD: The world's tallest mountain, if measured from
base to peak, is Mauna Kea in Hawaii. The base has an elevation of
-19,680 feet. The peak has an elevation of 13,796 feet. How tall is
Mauna Kea? ft
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Why Is Your Nosein the
Middle of Your Face?

Write each answer, then mark it in the answer column. For each set of
exercises, there is one extra answer. Write the letter of this answer in
the corresponding box at the bottom of the page.

-4-5 Answers: -2-3:-5 Answers:
1 68 @ -48 (K)-20 8 4--1-9 (P)-36 (W)30
-9 -2 E®)-18 (R)18 -8--5-2  (5)36 (V)80

-3-8 6:-2-74
_4--6 ®)24 (T)-49 9 ~7:5-2 L4 (1)-50
7.7 W-24 (F)4e 3.-g.-2 (N)-70 (D)-48

-5--9 4-3-75
20.-4 (s)-48 (Vv)-80 10 —9.-g.-1 (H)-72 (U)-60
-16 -2 (M)-32 (D)45 226 (R)24 (E)-24
66 ~7.-3.-4

-10--18 (L-36 (W)36 11 5--9-2 (©)-90 (H)s4
-12--3 (1) -180 (Y) 180 6753  (T)-8¢ (W)

-1-24 -8-2-10
2--24 (H)-24 (P)-48 12 4--5--5 (© -100 (P)-160
-3+ -24 ©72 (T)s4 6.-g-—2 (A)100 (L)-96
-7--11 ~7-9--1

154 @6 (E)75 13 -3.-5.-3 (063 (E)-45
~12--5 D77 (©)eo 4-8--2 (H-48 (B)-64
450 -2--15--5

-25-8 (R)-100 (B) 200 14 -6--1-25  (A)150 (N)27

~90- 0 (F)o  (M)-200 3:--3-3 M)-27  (¥)-150

4 9 13 3 5 11 1 8 12 6 14 2 10 7

—~~| SO O = QO PO
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Why Did the Cow Give Only Buttermilk?

Do each exercise and find your answer in the corresponding answer column. Write
the letter of the exercise in the box containing the number of the answer.

@ -2(-1 + 6)

@ 9(—4—3)'

(E) (-8:-3)--5
D 9+-2) -4
(D) 20+(5-12)
@ -3(-7 + 1)

(N) -6-2)+(2--6)

Answers:

(33) -4
(13) -24
(15 -10
13
() 29
15
(3) 18
(27) -63

(V) (1--8)+4
(E) (7+-12)+9
W) 6-3-7)
(8) ~2¢-11 +-4)
(D) 15+9)-~1
(A) 424

(B 3:-6)-(5--2)

Answers:

(1) -60

(@) 8(16+-7)

@ 9(20 - 30)

(R) (-14-86)+35
(H) 5+1)--12
(E) 4-(2-15)

() -1 (-7--10)
(K) (-5--4)+(-6-6)

Answers:

@5 -33
29 15
-16
(18) 72

(H) (4+9) -3

(M) -5-8--2

@ -10 — (99 — 100)
@ -6(-6 + —6)

@ (7 +-15) - 20
L 239

(1 4+-1) - (-1--1)

Answers:

-28
@3 o

4

20 72
(31) 80
(7) -54
(@) -15
(1) -9

n 9
19 20 24 |25 26 |27 |28 29|30 (31|32

12 | 13

10 | 11 14

15

TOPIC 5-i: Review:

Addition, Subtraction, and Multiplication

E 64
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What Should aBoy Do I f He Loses a Kneg?

Do each exercise and find your answer in the corresponding set of answer boxes.
Write the letter of the exercise in the box containing the answer.

-88 + -8 (1) 120+ 10 (-18 +-2) + (28 + 7)
(H) 49+-7 (R) 48+6 (H) (12+-4) + (-64 = 8)

® ¥ Gk CENE
© % s ©% - 4

1 |60|60 |11 [-15]13[8 [12]-4]-7]-5]-8]7 [10]-11]4 —]

-60 +-12 -120 + 6 (F) (25+-5) + (16 + 2)
(A) 99 +-1 (N) -200 +-5 (S) (-63+-7) + (-15+ 15)

® % @ ®% .
® % ® % CE

siebeyu| Buiping -6 O1dOL

-5 | 7 8 -3 4 3 4 |20 2 | 6 |-10 |57 | & 10 | 99 | 20 2 I




€ 8¢-

Gl- 0E-

@) AHOLS (9 NOOVINId &) 334OV
(G-.9)—(¥.p) % + w ImlmMA
©2 ONIHLANY (61 NOSvYad (&Y S3AIS
(GI-+/)—91 g-.8-.¢- v+ (0} .21-) (9- + 6-)G-
IyaHL @Y 3gavn G oL () JHL
g-+ (g +2e-) (b-—11-)6 Gz +(0€—8) g-/l--1
INELE D) yanan (v S| o 37d03d
o - = (G . 9-) + (- . 6 = £ a5y
4V (® aNO 0 ol (9 NI
G-+ (8-— 1) 9 + (Gp- + GI-) (v + 6-)02 (e—8-)+¢
NO ©) IVHL &) W33S © OHM
0b-.9-.G e-—(/-+9G-) (8 + |-)p- (QL—2)+6
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Which Skier Won the Norway-to-Finland
Cross-Country Ski Race?

Each ordered pair at the bottom of the page represents a point on the coordinates
below. Ahove each ordered pair, write the letter that appears at that point.

10 1 TH rE— TE
9 *N é ﬂN ﬂO
: § {w s
7 FT o _H
6 FT % ﬂs
N H C
5 *— -9— ——
¥ G G
3 #O *A LS
2 TE ﬁ—ﬂ fT
1 + fT #S
| E N I

@)
——o— -
0 1 2 6 7

3 4 5 9 10

(2,5) (7,4) (58) (3.3 (9,1).(4,6) (8,7) (6,10).(1,2) (3,8) (2,9) (10,6) (4,1)

(0,00 (6,0) (2,00 (0,7) (0,3) (8,5 (3,4) (10,9 (53) (7,6) (8,2) (1,10) (9,4)

(0,4) (8,0) (6,2) (7,9 (2,1) (98) (565 (4,79 (1,0) (0,9 (10,10)
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Why Is a Mother Kangaroo Unhappy
When It Rains?

Each ordered pair at the bottom of the page represents a point on the coordinates
below. Above each ordered pair, write the letter that appears at that point.

iz} H

<y

(46) (72) (63) (58) (374 (872 (6-5(1,) B0 (7,0 (04

(0,76) (29) (7477) 3,73 (| ) (676) (4™9) (0,1) (88) (37 (5-2

(1,7) (2,0) (-44) (79,78) (7,77) (0,73) . (9,1 (573) (8,4) (6,00 (/9,5 (0,0

E"68 MIDDLE SCHOOL MATH WITH P1ZZAZZ! BOOK E
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K1 <0 & O} 2 (e

lous s e & |02 | & (e-'8)
3ol e | 3 (A 0 . N (W2

- & ()| % @0 | & (-89
(200 % [ (0| 3 |@©W)| 3 (0'9)
PR I O I T (09)
loudd I 3 v (ter) = (¥
5 lo-e) & () 3 (5'1)

1) ¢ ley) & (1) & (eve)
9 & (g0 3 €0 % @1l
% 3 i Lol
Pusdiynz 19 od M3 UL Y15 (91°2)
3 E + (e1?)

A TO R S WD B ey = (91
(e-¥) = (7)) % (er9) % (9%)
& (1-'e) % Me.e & (el's-

~—

(81'6-
(8L 11—

™
~
=
~
XD

X3

pusd YT :  (1-'1)
+ 0 (0'2)

s
o

o
3
—_
-~
~
~
Yo o
Dol
~—

(9-0) 3% Boou x ()

(G-'k) & jousd Y “ (a1'0b-)

% L lusdin g (99)

pu  yiE % : (')

(025
(z-'01-)
(2-'8-)

k) (L'go)
& (21'94)

)
(-3 % )
) | % ZL*0k)
)
)

(

: (

(e-3 % (
(

(

: % (e (b-"01-)

lousd Ji7 = e |3 (L) (r-'6)
(s-‘o01-)

(2} i lo'e) % |oU=d I (5-'6-)
L4 0'1) = (2-'2-)
L) E 1) £ ©r-e {6-"1)
9-d % e) % (-2 (01-'2-)

k3 < ‘Xoqeapisu;s} wd 4
Pewlo} SE B Ul 8peysS ,’|Iu ad Ui, Aq ps} ieed ks
sjujod 108U O Jou 0 18pio W] Sjujod BY} 10 U

Jurod 33 399
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What Did The Farmer Do When.His Chicken

’
Wouldn’t Lay Any Eggs?
Yes No
DIRECTIONS: (1) 2x+5=13 {4y | 9-D | 26-U
For each exercise
' -1=2 9 2-E -
determine whether or not @ 3y ° %) 12K
the number in braces is @ 6 +5x=44 {8} 19-1 | 23-A
a solution of the given '
equation. @ 12- x=7 {5} 16-N 4-B
Indicate "yes" or "no" by A
circling the number- @ Sn -4 =92 {20} 24-Y 6-0
letter in the appropriate 52 — 6x + 10 7 12-E 3.p
column next to the @ ’ ()
exercise. Then write the @ 27 = 15a — 1 {2} 8- 26-L
letter in the matching _
numbered box at the 2x+1=3x-3 {4] 19-G | 27-K
bottom of the page.
@ 7X—-2=4x+9 {1} | 11-D | 4-s
(10) m+20=11m-6 {3} | 15-U | 13-R
(1)) 18 + 5x = 8x 6) | 24-M | 10-0
(12) 3x+10=4 121 | 8E | 201
(13) 4y-1=-21 =5} | 1-H | 22-F
(14) 6 + 2u="7 {-8} | 25-T | 15-A
(15) 30 - x = 31 (-1} | 27-E | 14-0
(16) 9-5x =40 {10} 3-L | 7-W
@ ~12 = 6w + 6 -3} | 11-H | 18-A
(18) x+8="3x .. . {-2} | 20-G | 25-D
4y =y - 20 7 22-G | 5-H
~7d = 50 + 2d {8} | 171 | 25-P
@) 6x+1=3x-11 -4y | 18-E | 21-0
(22 10k-9 =9k + 10 {0} |.10-C | 22-s

I1 2/3|4/5(6[7(8|9|10(11|12(13|14|15|16{17}18|19|20|21 222324252621
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sz=p+.-(d) pl-=pL +A (N) ge-=x+2- (0 g-=e+gl- (@)

.VHX+mP@ N_.H=+®® ONIH_.I+N® MIHO_.|+>.@

I FEE NN NN NNENNNENENNNNNNNNENNENNNNENNNENENNENENNENRNNERNNENENENNNENNENENNNNNNNNENENNENRNNENNENNENNENNERHNNNNNNNNN]

oL-=w+5 (0 p-=8+q () L=og+x (D z=,+n (W

zt=9g-+u () 6=v-+4 (&) v =0z +x (n) l=g+x @

jsuoll-unj-ap ay} Aolug “JI anoqe 8sI0Jaxa Jey] JO JoNd| 8yl allum
‘sieadde uoin|os ay} awi} Yyoeg ‘epod 8y} Ui UofNjos INOA puly pue mojaq uoljenba yoes aAj0g

‘SNOILINA44va OM1 3S3HL 3d0J03d OL

8c- €L lc- 1€~ 6 €} 1S- OF 0g- 9 le-62- €1 2€ 8L L~ L 6¢- |-
:Joaueoong

Ik 8 0L v ¢l- 9 82-61- 8 ¢€ G- LI S2 61-82- 8- G- lc- |-
:UOIIBLLIOJU|

AIP 02T uornudffovq

=b

TOPIC 7-b: Solving Equations: x + a
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Did You Hear About...

A B C D F G
H | J K M N
O P Q R T u
?

Answers: A - K:

7

TO

JUMP

KEPT

THE

TWO

HOLDING

WHO

FEED

LITTLE

MONKEY

TRYING

SILLY

BIG

HER

GIRL

Solve each equation and find your solution in the appropriate
answer column. Notice the word next to the solution. Write this
word in the box containing the letter of the exercise.

15+ y=8
(E) a—10=-6
(H) m--5=12
(K) x--16=-16

@ -22 4+ x =50

(©) x-11=4

(F) x-1=-14
(1) y—--8=40
(L) -15+t=-9
(0) 37=n+3

(R) 4=v--31
(L) y—-10=10

Answers: L - U:

68 WERE

13 FOUND

-3 DOGS

—24 BEARS

21

ALREADY

-39 FULL

35 THEY

34 SHE

6 TEDDY

26 THAT

0 STUFFED

38 WHEN

22 OUT

28 HEARD

72 UNTIL




Why Didn't the Elephant Like
to Play Cardsin the Jungle?

Solve each equation and find your solutionin the
corresponding set of answer boxes. Write the letter of
the exercise in the box containing the solution.

2000000000000 0EI00000000000000000000000000000000000000000000000000000000R 0000000 r0rRissereetecarencocseascescccnsssoccocstscsense

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

-2 12[101—3(7 —25’25 -7 | 5

61 = 66 (A) 15x="-30 (5) 7Tn=42
R e — ®"2{§: g ey ——
OF R P ORI P

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

(N) ~x =30 (©) 10w=720 (@ “y="10

-4 | 4 | -2 |-30 —61—13 72 | =11 | 100 Lw 10 | -1 | -3 | 6

|\/||DDLE_ SCHOQL MATH WITH PIZZAZZ! BOOK E
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What Do Yau Call A Slow Skier?

Solve each equation and find the solution in the rectangle below. Cross out the
box containing the solution. When you finish, write the letters from the remaining
boxes in the spaces at the bottom of the page.

®%-3 ® -4 ® fy-2

®%--2 ® ta--20 ®-o-%
@) Fu=10 @®+=12 (®2-"a
(10) % - -11 @) Tp=-16 -3=X%

4 5 ~ 21
@ 17 GRS CER

® 3=15 @) +m=20 (18) L =-1

'Tx=8 —24=‘? @12=%

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
TOPIC 7-e: Solving Equations: -;— =b E'74 © Creative Publications



SuoiBDIIgNd BAB3ID ©

gL 3 3 Y004 iZZVZZld HLIM HLYIN TOOHOS 314N

suoenb3 deig-auQ Buiajog :meindY -/ DIdOL

What Did the Butcher Say to the Tough Piece of Meat?

Solve each equation and find your solution below. Notice the letter next to the solution. Write this letter in the box
containing the exercise number. If the solution has a . shade in the box instead of writing a letter in it.

Answers1-12:

-3 @ =72
@ 5 @© -6

() -64 (™) 38

@n+—6=11
@ w--3=18

(13) 15=x+7
(15 p—-2=-9
@ Fi-¢
n+11=-80

Answers 13- 24:
@ -16
(T) -500
M 2

(v) 20
O 7
@ =

-75 = 3e
-4y =-28
-32=w-12
@ 24 + x=-3
-5y =0

71141 3 |21 12

1912 5] 9

24

131 2] 8 )20

18

17

15
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Vive la France!

1. Why did Pierre Jacques Marseille feel at home in a bakery?

1 7 1 -1 9 8 15 10 -20 7 2 -2 11 -16 9 -20 7 -8

2. What do they call the famous French general who kept dynamite in his kitchen?

3 5 2 3 3 7 6 1230 9 3 3 1 2 14 9 13 9 20 +4

You've probably heard about the guy who fell off a bridge in Paris. He went in Seine. To find
out about two other French citizens:

Solve each equation below and find your solution in the code. Each time the solution appears,
write the letter of the exercise above it.

I (s) 3n-5=19 I () 11 +6k=65

x (O 4x+2=14 s (M) 7+3m=-29
I (c) 9y +10=-8 l (D) 1—10x =81
] |

I (E) 2a-15="1 I (H) 2-7d=-75
. (L) 4y-9=15

|
I @—8w+4=—36 I @—8+12e‘=—20

@ -5x+7 =27

I @ 44 =5x—6

= ®—7=2n+19

I (L) 31=4-9y
]
I (R) 52-3u=38

. @ “11r—2=-24

I 6—x=15



What Did Olga Say After She Had Angina,
Arterioclerogs, Tuberculoss Pneumonia,
Aphaga, Hypertrophic Cirrhodgs, and Eczeama?

For each equation, only three of the given ordered pairs are solutions.
CIRCLE the three solutions and notice the number-letter above each. Write
the letter in the matching numbered box at the bottom of the page.

<
]

i
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@ 10-A 18-K 4-T 24-D 22-E
X+y=8 (3,5) (5,2) (7,1) (-3,6) (-1,9)
@ 11-M 13-S 2-H 7-F 18-|
X—-y= (2,8) (1,6) (4,9) (-1,3) (-3,2)
®) 6-A 24-T 8-U 11-R 15-B
2X + y=4 (1,2) (-2,8) (2,75) (3,72) (-4,3)
@ 1-C 15-E 23-R 20-G 7-S
xX—3y=-6 (-1,9) (3,3) (2,78) (6,4) (0,2)
®) 16-L 12-N 1-T 19-F 8-A
X-y=3 (8,5) (-8,7) (1,2) (4,0) (—2,75)
® 17-K 19-N 3-A 9-M 23-S
5x+2y=15 (4,71) (1,5) (3,0) (-1,6) (5,75)
@ 12-D 14-0 5-W 17-L 21-U
y=Xx+7 (1,8) (5,3) (-3,4) (9,72) (2,76)
21-T 9-S 9-H 14-T 14-P
y=4x—1 (-1,75) | (-2,3) -1

ii T
J L

TOPIC 7-h: Equationsin Two Variables
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TOPIC 8-a: Test of Genius

T est of

Write the letter that logically continues
each of these series:

a) AcbDfeG__
b) bYdW ___
c) HgFeDc__

Adam dropped a rubber ball from a
window 40 feet above the sidewalk.
The ball always bounces half of the
height that it drops. How far will the ball
have traveled by the time it hits the
sidewalk the 4th time?

A donkey and a mule were carrying
bags of grain. If the mule gave the
donkey one bag, they would have the
same number. If the donkey gave the
mule one of his bags, the mule would
have twice as many as the donkey.
How many bags was each carrying?

If nine thousand nine hundred nine
dollars is written as $9,909, how should
twelve thousand twelve hundred twelve
dollars be written?

How can 8 queens be placed on a
chessboard so that no queen is under
attack? Mark their locations on this
drawing of a chessboard.

n7/my/m/M,
yRym/m/m
n7/m/R/WY
vmy/m/m/m
N O, 7 W
2 7% 7 |
7 7 7
v/mymzm/m

Genius*

@ Two riders on bicycles, 100 miles apart,

begin traveling toward each other at the
same time, one traveling at 10 miles
per hour and the other at 15 miles per
hour. A fly named Paul Revere begins
flying between the bicycles, starting
from the front wheel of the slower
bicycle. If the fly travels at 20 miles per
hour flying back and forth between
bicycles, being able to reverse
directions without losing any time, how
far will Paul Revere travel before the
bicycles meet? -

Mr. Sprout built a fence around his
garden so it formed a square with ten
fence posts on each side. How many
fence posts did he need?

At a certain party, there were 36
handshakes exchanged. Everyone
shook hands with everyone else exactly
once. How many people attended the
party?

Move one toothpick to make a perfect
square. Then do it in a different way to
make another perfect square.

SCORING KEY

8 or 9 — Superstar Genius
6 or 7 — Star Genius
4 or 5 — Genius
or less — Genius of the Future

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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What Happened When ThereWasa
Kidnappingat Bizarre MiddleSchool?

Write eachratioin simplest form, then find your answer at the bottom of the
page. Write the letter of the exercise in the box above the answer.
1. Write eachratio.

~
@ Starsto squares -(-@ Circles to stars-g. . . . . . .

® Squares to circles _@ Stars to ali figures 'fie. . . . . .
™ Starstocircles-_Ef 1@ Squares to all figures é‘ * * * * *
. A Nscreenis 15in, high and 20 in. wide. Write eachratio.

(H) Heightlowiath =g (&) Widihto height 3

lit. A magazine photograph is 24 cm long and 16 cm wide.
Write eachratio.

(®) Lengthtovidth 7

® Width to length 16cm
IV. There are 30 students in a class, including 16 hnys. Write each
ratio. 7 g

® Girls to boys 8 l® Boystogils ¢
® Girlsto all sludents|§® Boys to all students %

V. Afire-breathingswamp monster is 36 feet tall. When last observed, his shadow was 40
feetlong. Write eachratio.
o

(@ Height of monster to length of shadow 10
(W) Length of shadow to height of monster g

V1. Count the number of teeth on each gear. |
Then write eachratio. i

@ Teeth on Gear X to teeth on Gear Y 2
@ Teethon Gear Y to teethon Gear Z ,f' X

®TeethonGearXtoleethonGearZ_7__ Y
=5 \f
[
TH A R [Wwa kg [Hi[M v
5|6|7/2/915}4 8[sfiof7[2fal7/afalslala 2
18| 7 (15| 5)10| 6 | 3 74951‘2114157313
E-7 TOPIC 1-a Rato

NOTE: In Exercise 20, students find the average speed in feet per second
needed to run a 4-minute mile. (Roger Bannister was the first personto do ,
this.)

Why Did the Writer Enjoy Living in a Basement?

Do each exerciseand find your answer to the right. Write the letter of the answer in
the box containingthe number of the exercise. If the answer has a . shade in the
box instead of writing a letter in it.

Write each rftio as a fractionin si@fest form. Answers:

I

(D 7012 TZ @9

® 8w %‘ @) 201012 %
®=0 L (® souteits z,
(@) 801080 —g— Boutof 100 Zg

(® 78outot 780 g () %0:30 -
@ The ratio of wins te losses for a team with 60 wins
and 90 losses.

The ratio of girlsto boysin a 7th grade class with ===
300 girls and 250 boys. 5

2

@ The ratio of red lo blue for a purple paint made by
mixing 24 oz of red with 28 oz of blue.

The ratio of blue to red for a purple paint made by
mixing 24 oz of red with 28 oz of blue.

@O OO0 @O O

wpNle ajo <je b~ Blowls ols

wirwlo of~ Bin Bl alo 5|~

CN JOIONOX JO)

o~ 9 ¢

. Write the ratio of the two measurements in the
unitindicated (a unitrate).

@ Acar traveled300 miles on 15 gallons of gas. 20
(miles per gallon)

Ima Smurt typed 120 wordsin 3minutes. 4O
(wordsper minute)
Dr. Cranium traveled 2.800 milesin 5hours. 5 @O
{miles per hour)

18 Agearrevolved960 timesin 30 minutes. 32,
(revolutionsper minute)

Gloria Trench earned$144 in 8 hours. 18
(dollarsper hour)

@ Roger Bannister ran 5,280 feetin 4 minutes. 2
(teet per second) (HINT:4min=_? s)

Answers:
(M) 48
© 32
®1s

@) 40
® e

560
OF
@

) 520
® 3

1373[7 18 9‘571W 417111 19‘9 12(18] 2 [20]10]14] 6
.7 wA\sL |Al |BIE[S|T| |C[E/L|LA
TOPIC 1-b Ratia and Rate E-8

CRYPTIC QUIZ

1 What should the JOLLY GREEN GIANT receive?
THE NOBEL PEAS PRIZE
6

2 Why did it take the GOAT more than 3 hours to finish a 20-page book?

HE_ WASNT_

12 16 6 24 4 18 20 3 60 5

10 16 7 20 3

5
F Solve each proportion and find your answer in the code. Each time the answer
e appears, write the letter of the exercise above it. Y

Of-% 20 ©f-7 1 377

n

wjro
L}

©

*la
]
ol

o\

O
[
o|3
w
L
n
ISE]
s

®

70

©
1N
[}
Rlem
S
®
218
It
[
-
©
316
i
3~

C)
ml:
[}
oo
E =3
®
:-l:
]
Sle
®
ISE
u
b
wy

alz
]
sl
o0
a
ol
1
3|3
)

24 _ 24 _
®%-% 20 b @z-% g
E-9 TOPIC 1-¢: Solving Proportions

What Did Snidely Say After Filling
His Car With Super Premium,
TopTest, Power Plus Gasoline?

Solve each probiem and find your answer in the rectangle below. Cross
out the box that contains your answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

@ The Jelly Junior High school color is @ Jose can read 7 pages of his book in
made by mixing red paint with yellow 5minutes. At this rate, how long will it
paint. The ratio of red to yellow is 3 to take himto read the entire 1E§age
5. How much red paint should be book? | min
mixed with 20 oz of yellow?

1202

@ While exercising.Julie found that her
heart was beating 12 times every 5
seconds. How many times was it

beating per minute (60 seo?q‘gir

If there are 1.200 caloriesin 8 oz of
hot fudge, how many calor; in3
oz of hot fudge? ¥9%%al

@ The Lawn Order lawnmower factory
can produce 12 lawnmowers in 8
hours. How many hours will it take the
factory to produce30 lawn: 5?

28,

@ An object that weighs 10 Ib on Earth
would weigh only 4 Ib on Mars # you

weigh 95 Ib on Earth. hew, mﬂge
would you weigh on Mars? b

At a certain college, theratio of men

to women is 6 to 5. If there are 1.500
men, how many women a,g 2
@ The ratio of orange juice to pineapple a‘e! %&D
juice in Tropical Treatpunchis 4to 3.
Bill has 64 oz of orange juice How One of the world's largest stained-
much pineapple juice does EF ged? glass windows is at Kennedy
oz InternationalAirport in New York. Itis
arectanglewith a heightlo length
ratio of 2 to 25. If the windo
teet high. how long is it?

@ A cookie recipe for 60 cookiescalls
for 4 cups of flour. How much flour is
neededto make 90 cookies? [

cups
P

KK

450 48 N 1,210 00 12 W25 340 20
GO VX oD | NE }( ss
136 25036 .15 40 44 38 ™ 7

T ANKGOODNESS
TANK GOODNESS
TOPIC 1-d Problem Soiving Using Prapomons E-10
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Did You Heer About...

A B C D E F

THE |[WRITER| who PROPPER| TEN |STORIES
G H | J K L

INTO A TRASH CAN AND LIVED?

Use a calculator to do each exercise. Find your answer and
notice the word next to it. Write this word in the box containing
the letter of the exercise.

1. Solve. Round each answer to the nearest tenth. 247 PIECES

15.42 4 9 =L y2.7 218 STORIES
6 79 _ 1 1,840 FAINTED
©ﬁ‘§i20-'+ @T’flez;
197.5 DROPPED
X - 375
®£=3_43-3 ®%&5-% 21.8 19.6 THAT

1,625 CAN
li. Solve. Round each answer to the nearest whole number.

@ Tom'sred bicycletravels 50 ft for every 3 pedal turns. H°W317
many pedalturns are needed to travel a mile (5.280ft)?
For a survey, a company decidedto call 7 out of every 5.000 20.4 WHO
people How many people should be called in a town of IO?

78.000people? 127 TRASH

@ GloriaTrench checked her gas mileage and found that she 1,355 PILE
had used 16.6 gal of gas to travel 372 mi. At this rate. how 127

many gallons will she use to travel from San Franciscoto
Washington, D.C., a distance of 2,850mi?

317 INTO

235 AND

@ A US. nickel contains 3.99 of copper and 1.2g of nickel.
How many kilogramsof copper must be combined-with 500
kg of nickelto make nickelcoins?

1,625
42.7 WRITER

® On the stock exchange. 100 shares of Pizzazz Corp. stock
are selling for $425. How many shares can be purchasedfor
$1,0007

235

324 FROM
1,920 LIVED
211.5 WROTE

@ At Paul Bunyon's loggingcamp, the cook scrambled 20
eggs for every 3loggers. How many eggs did he need for
the 288loggersat the camp?

1,920

E-1

TOPIC 1.6 Using a CaloUIOr Solving Proportions.

OAKMEA L.

What Is a Termite's Favorite Breakfast?

For each pair of similar figures, find the lengthx. Cross out the letter next to your
answer. When you finish, the answer to the title question willremain.

® q9em

w[om ] ©O8m x
— | 14cm 12m
gm 15em 12¢cm
% 151t
< | 20 m_| 6m x 20¢m
2 | sqin: Yoermn ®2l in.
Y (8m @ 18.¢cm 10
w | 24in,
35in
0 | 12cm 30cm 24cm
X (46m @50 in. @ 18m
< | 44cm 72in. A s0m
25'in
‘W (10cm x
ey
O [18m s =
m
O | 48in.
Izem
~ | 40em @ 21 cm 42_m
% |em | W ‘x
20m
14m 60m
35cm

Aphotographis 25 cm wide and 20
em high It must be reduced o fit a
spacethat is 8 cm high Find the width
of the reduced photograph. }Q) €.ren

@ A flagpole casts a shadow 10 ft long.
If aman 6 ft tall casts a shadow 4 ft
long at the same time of day, how tall
is the flagpole? | & -F-r

TOPIC 1+ Simdar Figures

NOTE: Students need metric rulers for this puzzle.

What GoesHa! Hal Ha! Thud?

Scale—+2cm:3m

A.lem ©.0em
library .
i- 3 ballroom I 3.2em
w
A
A
gallery 3.9em
2.8 parior foyer
cmrn
6§.5em 3.0cm

Thisis a scale drawing of one floorin a European castle. Do each exerciseand find
your answer in the adjacent answer column. Write the letter of the answer in each
box containingthe number of the exercise.

1. One dimension s given for eachroom. Measure to find the other dimensionto the nearest
tenth of a centimeter.

(@) bail 43empy_-lem

@ library 3.2cmby b.0cm % Z.:cm % i.jcm
@ parlor 2.8cmby 5.5 -Sem <em
@ foyer 2.8cmby 3.6em @ 8-1em @ 5.5em

6.0mby_2-Fcm

3.9cm 8.4cm
@ gallery ® .
1. Find the actual room dimensions. ("Length refers to the longer dimensionand "width" to
the shorter dimension.)
(® 865m @ 4.2m

length of 130 width of the,

Do each exercise and find your answer at the
bottom of the page. Write the letter of the
exercise in the box containingthe answer.

L. Write a percent for the amount shaded.

1. Write a percent for each
group of circles.

L 111111 [ ] |
@ the shaded circle5337. O000000O0OOOOOOOOO00
0000000000000
i ' 30000000000000000000
@ the unshaded crcgs7%

111, Write a percent for eachratio.

® 110100 (70 @) 831010083% @) 54:1005%7 () 2:10 207

T7556 75% % 24% % 807 @ % 50%
@ 062627 (90w ®% (T o440 0.1 107
®0033% (08867 @Door 7T (Diolo0%
IV Solve

There are 100 centtmeters in a met%o @ Gulliver tossed a coin 100 times and
What percentof a meteris 30 cm? 7% got 43 heads. Whagz?tg?nt of the
ils? .4
@ There are 100 cents in adoll?l”s‘lyal tosseswere tails?
(]

percent of a dollar is $0 15? F Qf 100studentssurveyed. 90 chose

HSm T tavOrite cb
beilroom! ballroom & om 13.85m O Of the 100 million acres n California. math as their favonti 5&"’8 \What
length of the @ widthof tl’a 5.4m 8.25m the federal government owns45 jllion percent chosemath?
library < rPy library .8 acres. What percentis this? ‘. ® A sheet of 100 stamps has 22 stamps
length of the width of 13.25m 6.15m left. What percent of ps has
par?orB . 25'@ parlor t:"f- zm % 6.45m % 51m already been used? ‘?é%
length of t width of the 1% 3% | 7% | 10% 15% | 18% | 20% | 24% | 25% | 29% | 30% | 33% | 40% | 42% | 45% | 4B% | 50%
@ foyer 5. "‘@ gallery @+ 85 m ® 5.85m @ 4.8m ST EA T ‘ D A ‘Y 70 ‘F— F
1278 11272 T10[12[4 79 136 [2 9 [13[6 ] 1[13] 5 12‘7 alujn 54% 579 5% 609 | 62% 679 7296 7550 7896 | 80% [ 83% | 86% [ emendl 90% | 96% | 9356 [100%6
AMAINLAVGHUNGHITS|HEAD|0oFF O N |H | RoNa, F o
A MAN LAVGH T A
E-13 TOPIC 1-g: Scale Drawings TOPIC 2-a Percert E-14
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NOTE: Each fractionin Part Il can be changedto an equivalent fraction with
a denominator of 100.

ot W -2 Why Didn't Dexter Want a Pocket Calculator?
8 #ee g 1o = |2 Do each exercise and find inth Jumns, Write the letter of th
n 3 o [Twec] 2 hadgn 5w exerdise in e bos contaimmgthe number of e answer, o
ﬁl,s_ §|§ -2 2 %0L E § é gﬁ § "lg I. Write each percentas a fractionin fl. Write each fractionas a percent.
%l 5 < lowest terms.
@ 9 pllxlieeos |k o 4
I S Elit | @ B3 @z | ®Luor ©® 5%
T ™~ %l = 0 Q 01_0|"
g i e ks ®=3 ~ Owl | @397 OFsn
[ o 2 ]
2 %00 | = &8 8 & [4|~R
St 2 %‘,Ql ﬁ]g L I—L%wlg ®@©@E"8 ®25%—|l;_ @75%_3_ @%IZ% @;—gét}%
Y 298 o8 <« (%5 o *J R
E - r LAl — 7 L 23
E E £ g O @ ‘@ mE ?1[9- 400 & |-l @30%—‘35 @70%—13 ® 5 27 © B4
5] E[ER o PId EE R R EINEE _ . 1
Ol i S hinlisododn] | Ok OmF Oten @i
2 - = -
o é j; o) ® = %;; P;:E @m«/.??s @ss%% ® & 70% ® $75%
v g
BUIE| e (@ d] TRd,, [ ® % 12 @il § ©585% ©O% 9%
Q‘-E 28 —Svo || %ee 0-606 120 100 loe
I — -
g o §§ 2 % = ‘2 e g 2 ; § iaoo ® % 19 @50%__‘1’: ® 2 90% ®E 17,
g 3% o © & o J:_%QQ -~ | 8.0
g 5 @@@@ _z—%OG @@@@ Z | oo sesessscscs ANSWERS sevesscacse seecncsesss ANSWERS eeesecsccne
BEI wecs bl 5aao ae @t 08 @4 ®F | On @ Om
guégggﬁhgf%tﬁéddétesn D @I ®E @2 @sn @%@ 7%
.5 B|e=| 28 28 @ B 3 é 8 8 § 2| s0 r 10 50 20 @ 9% 39 60% :ss%
gl @ © © S O =4 | K - . @) 64% 88%
w & 58| a M § 120 ~ 16 . @) 12%
2L 100090 Wi 0998 @+ Ot @5 @3 | Oue @m @
N-AET 52;‘;3_%99 g5 e g awo ®xr @2 D% @%@ %%
§m§§§3?a~&%”9§§§%§ 2| 800 772734567 8]9]10[1L12]13]14]15 16|17 [18]19
28| g 2 2 S ° | g|%Ehe b S0 AlLIR|E AID|Y K |N E |[W H o W
:@WOOG | %)= e e 23 | 24 26|27 |28 |20 |30 | 3L |32 (33|34 3536 |37 | B |
Y C K D

<
>
zZy

E TS H|E H A

m
_'.
«»

TOPIC 2-a- Percent

TOPIC 246 Percant and Fractions E-16

NOTE: You may want to have students use calculatorsfor this puzzle,
especially for Part 1I.

What Are the Titles? Did Yau Hear About...
A

i
e

1 Da each exercise and find your answer
57—5-% ABOUT in the appropriate answer column.

8.3% LOOKING
6.4% AROUND |
33.3% QUARTERS
41.4% NIGHT
88.9% SPENT

62.5% THE

2 Notice the word next to the answer.
165% HEARD Write this word in the box containing the

letter of the exercise.

B c D E F G
THE | KID | wHo |HEARD | IT RAINED | AN
H | J K L M N
INCH | AND (THREE QUARTERS AND | SPENT | THE
P Q R S T 9
— AT WHOLE | pav kiNGa| FOR (THE @uarteas !
I 5—[5 I Answers A - J: Answers K - T

733.9% THAT
1. Write each fractionas a percentthat
contains a fraction.

3 gt 2,02 7
® $3177%0) 560370 §7175
AP 3 7eal 2,84
® 363 % 5583590 4285 7
Py ) 3,43 1ok 11.8% WHOLE
© FT2w D) %85 KD 521
@ On a math quiz, Raoul got 7 out of

8 problems correct. What percent
were correct? 37—’: 2

Title 1:

i,
2-5% AND

Z

VE I N_THE_ _OCEARN

WA vV
9% 42% 68% 13% 26% 83% 3% 15% 22% 55% 13% 6% 33% 44% 13% 42% 3%

Title 2:
BBLE _GU b%_

B v
57% 86% 57% 57% 23% 13% 92% 8% 86% 4

884-% THEN

375% THE

&

g
T
s>
S
o

3
&
g

284% RAINED

TO DECODE THE TITLESOF THESE TWO PICTURES:

Write each fractionas a percent roundedto the nearest wholepercent. Find your
answer in the code. Each time the answer appears, write the letter of the
exercise above it.

©5233% O©786% (Of22% ®H42%

34-% MORE 43.5% PUDDLES

77-2% WHO 57.1% AND

174% SAID 6.7% FOR
85.6% SEVEN

62.8% SOME

1. Write each fractionas a percent

rounded to the nearesttenth of a
percent.

® 333.3%0) 57 V%) 5€8.9%| 40.6% DA
M) 283.3%0) 211.8%(F) 140.6% 8.7% TRYING

3
1 16.7%3) 5
© %8.3%® 58 T%O 3
(T) Jennifer shot the basketball 16 62.5%
times and made 7 baskets. What
was her shooting percentage'? 43 8 7,
.

585%IT

3
1 185 % INCH

%7392, ®F13% (©F83% ©523%

66-2% KID

29-1-% WAS
®Es55% @®RM% ©OFpg% ® % 3% AR St A

—
87+% THREE

11.2% NEXT
83.3% THE

7289% AN
1619 EXTRA

Z667% @it44t @FH%  @F ST

E-17 TOPIC 21 Parcant and Fractions
TOPIC 2 Percent & Fractions E-18
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Where IsMost of the Money in Egypt Kept?

Write a percent for each fraction. Find the point on the number line that corresponds to the percent.

Wite the letter of the exercise above the number line at that point.

-~

‘uonewnss

i NT H E B ANK 5 OF THE N | L E
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
tH THE BANKS OF THE WN-E
®Lso% ®L120% @L10% @©Lli257 @1333%
®125% @®%40% (®L30% @I3737% D263
il
®215% @% 60% ® 1_70 70% @%4,2 3 7 @fm | %
L
®480%  ©L97% OLB8TZ%* g l00%
EXTRA:

Use your answers and the number line above to pul a > or < in each O

0T

3

8

© %

alw

EIES

pueyiew [ejusw ui i sn AieA aie Aay, " “ssfesinbe pPoed-uoiioel) 8seul

o Jo ewos azuol ew o} sjuspn)s & BINOSUS O} Juem Jybiw NoA :3LON

SYIBN B2 OIdOL

18q AN jojusdid B Bupuyd

<3

What Did Olga's Uncle Give He For Cold Feet?

Do each exercise mentally, write your answer, and then mark itin

the answer columns. For each set of exercises, there is one extra
answer. Write the letter of this answer in the correspondingbex at
the right.

REEHERSHERE

1

Answers:

@j 20 cm
@40 cm

100% of 40 cm B
50% of 40cm cT
10% of 0 cm P

@80cm
®4cm

6

50% of 120 volts M
10% of 120 volts B
1% of 120 volts V'

Answers:
@' 60 volts @ 30 volts
Q 12vohs  (B) 12 volts

100%otg0i Y
50%0f 904 2
10%o0f80 b L

@90[&)
Besw

© 45
Dot

50% of 64 oz
10% of 64 oz
1% of 64 oz

N
R

L

P o4z
© 320z

@ 0.64 0z

@3201

100% of 500 ducks A
50% of 500 ducks U (&5 500 ducks @) 50 ducks
10% of 500 duck T @25dud<.s @ZSOducks

50% of 25 m? A
10%0f 25 m? H
1%of25m? |

125 m?

® 125 m®

M o5m?
@ 0.25 m?

100%48L R
s0%48L M
10%of48L F

@24L
PDasL

O

’,

50%of 101kg N
10%0f 101 kg D
1%ot101kg P

B st
100% of 15min A
s0%15mn C A 1s5mn C 75mh

1%ottsmn ¥ B 15mn  ©smin

100% of 5,280 ft T
10%o0f5.280 #t L.

(® 505 kg
(D 505kg

/@ 10.1kg

1.01 kg

®s5281

528 ft

1wotszsor R (@) sosn D szt

SBUND8Q PUE IUBIBY (3-Z DIdOL

0z-3

What Happened After Old King Cole Ordered That
Chopped Cabbage Must Be Mixed With Mayonnaise?

answer in the box containing the number of the exercise.

Do each exercise and find your answer in the answer column below it. Write the letter of the ]

). Write each percent as a decimal.

@ 429,0.42
@) 1% 0.18
@ 7% 0.77
@ 22%0.042
() 18%0.018

(&) s»0.09
@) 2%0.02
5%0.05
() 20%0.2

50%0.5

@) 15%0.18
(1) 625%0.62S5
() 33.3%0,333

15%0.015
@®) 150% 1. 5

® 18

@ o042
@) o077
®) 042
@© o7
@ oo

@) 42
g

(OXAL

® o002
© o.005
® o2
©) o009
() 005
® 20

&R o5
-

(@ 0.009

(® o033
© 15
@ o062
@ 5o
(™) 0.333
® o5

(¥) 825
pg

@ o015

EFETTE R ER R

H. Write each decimal as a percent.

03838% (@) oos 7o @ o04s

@ 09494 % @ 00887 @ o012512.5%

075 7S % @) o011 Te

06676©. 7%

00949.4 % @) 05 BOZ» oot © 7
@) 00757.5% ) 0.1 0% @0) 125 125 %

Answers:

@ =
@) 40%
W) 10%
® %
(N) 100%
(@) 80%
©

@) o8%

Answers:

@) 94%
@ 75%
© 8%
@ -
() oss%
©) 8%

(R) 750%
o/

® 94%

Answers:

© 46%

@© 125%
®) o0.46%
G 7%
@ 1.25%
) 667%

& 457
-

@ 125%

“2,0 1? 26 gli §1 18|29 23127(16,28122{30 i19 25'




NOTE: Emphasize to students that, even though they divide to get their
answers, ihey are actuaily muitipiying by a fraction.

o~
Q : .
weorE o m§ —_ ¥ How Did Everybody Know When Sir Yo
Q - - P . .
$gi8 \é =¥ g A © Lancelot War in Love with a Lady?
- 0 (o B &

_59“ : 'gf” L 7 5 'g B go v lll Estjmalg each percent. Under each exercise, circle the letter of the better choice.
~ é o 8 s 2 B é 8 |n Write this letter in the box containing the number of the exercise.
-~ - o - - !!

© o ] HINT: First change the percent to a simple fraction. Then change the amountto a
@ @ @ @ N @ @ @ @ F_O. number that is easy to divide by the denominator of the fraction.
o [~
o=+ o % 4 ow O Al (1) 28%of 27 @) 9% ot 61 (@) 33% ot 299 50% =1
g en P 8ol ®m 0@ ‘29 (V) about 10 (©) avout 25 about 100
53 g 20 * g R % 2 | @about? B about 30 about 120 et

- ¥ R T e |7 35 5 5 X [©) L) abou 25% =1

g . N dole g g0y g 22 ge (@) 18% ot 42 41% ot 42 58% of 42 ]

5 _‘ S - b = @ 2 5 8 & [~u ® bout 12 bout 16 @ bout 20 75% =3
= 2 . - abou about 1 about =%
ELJ p i K- @OV o ®@0e6 = (F)avout 8 about 10 ) about2a eranan

[ 3] by A e o @ 'Q. - >

© § ,!,, m @) 8 8 NQ 00 0WN [0 (@) 1% 0t 45 (® 67%ot a8 (®) 13%0t 25 33%% =%
p-] 3 ® s =288 ° NT O~ Tz about 33 about 60 (© about5 2
“Rle. |l R 2 8 %8 s = P 865% =3
oM 51| & - = e ow S 2 & 2 £ o N) about 27 T ) about 50 1) about 3 3 3

w |£2 5 5 © © w 5 5 5 B U &/ W [W2)

z . o 3 saaaaaa
ge‘ §g — § gEE g2 lr ({0) 37% ot 25 (17) sa%ot 25 (f2) 86% of 25
@ - - -

E2||-lw - about 12 about 15 about 21 20% =+
;' 2 OO F . ®@QO6 2z (%aboma %amulzo %abons 2
B38| 8|2 o099 oy B 8 - 40% =5

22|l in | 8 g = t 1 9
(55 R | Eme ™ g - EN 0 Oy o (D) s8% ot 118 (18) 79% o 31 (38) 24% ot 202 60% =%
'5 8 §§ ; o 8 8 & 8 § o |; ‘-3 - B_« about72 @abcutza ®aboul$44 ) .

o & |22 F!lm g‘s 3 5 ; @ ; % ?; ﬁ -E FET (B)zvout 80 (@) abour 24 @) avout $50 80% =5
o (]
;é E; R[5 § § ) ’(’l_,‘" ®] £ b § § g |2 (i) 36% ot $75 @6@2)5/00[$162 (18) 76% ot $47 s
5] 25| | -] 8 @ 14 about $27 about $90 (R)about $36 121e, -1
o |58 8Z| 2 © & 2° =73
gm %5 ] % @ @@@ - § @@@@ 8"; about $36 (@about$1oo (L) about $30 a7le -3
W (E£ 2 1Y) L% =2
&0 35— ¢ Fw _ § ¥ (19) 39% of 152 (29) 52% of 495 @) 98% of 1,010 623"/ §
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- g E- g £§35 % :e 5 ~4 822 g2 [T @aboutﬁn @aboutzso (P)about 100 |87z % =3

2 R - 2 e 2 O o
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TOPIC 2.1 Estmatng a Percent af a Number E-24
E-23 TOPIC 2+ Estimating 3 Parcent of a Number
)
2 5 o e What Can You Use to
< 38, o 3
Hs g 3 g i Stick Blocks of Snow
2 0 w w5 c¥8
- 2 2 5 §8t% Together?
z 8 & & §s8%
.@ EF< g o) Do the exercises below and find your
m ® ® @ =cEt Q answers in the rectangle. Shade in each
u-\l 3 8 ;3 ES -1 area containing a correct answer. You
X w ® =t g 2 9 wilt learn how to build an ice house.
ol Py o8 X3I-w
o~ - © @ Zg83 85% of 36
‘ gk |g|, 33 3 3 % @ zetes 1428 30.6
=X IR 1502 2 2 2 =383 .
o z % & & j5Baf
)-lﬁ ¥_|§ e "!3 52 (g) 6 e §'§§§ @) s%ot14s (| 59 (@) 3%t 720
- I hZ -3
= oos < © ® Col . 1,’6
] w g el = = =R B

2 8 ‘\"\g -§<\'§ § LE - %g‘éﬁ ® 2055 | 375 (@94l

Gz Eolzz (5|8 d & & £8B¢ 1692

z E=N0 |§Eae|y O & O 6.8% of 300 33.3% of 80

3 3 g IF 228X 8 8§ @ @ eonata0 gy (®) NI

AN B I R e
- = j ] o PN Q ) 7.5% of 12
B oajs S Bun [pif|2 & &, 58 @ oo @7
S: L LE 23310 © © 323} 04
= 4 <& »

N R IS O o8t @ so%oiars g5 (D 72%of0s
Bz "5 62716 [E5| % 3 o gisé 0.768
O =g foulgt e [T 5 J W c28R (@ 3s%ota0 152 () 875% of 160

e 12 eTIF 2718 (23215 o < 483
RN R N Ho
- S [® 5 [~ S R Be2l® o g c§8: @ 1o%ot 1108 7755 @8 %0475

n -

08 -girg iz (815 o o §E 0.2515
= 5§ '°§ 158 ogg © ©® ® §8%% (37) Favio s a video salesman. On each sale, he
Stlo So¢fn 5wy E3 E.é eams a commission of 12%. One of his
o 2 T3 S = g ™ 0 Y §§=-E customers hought a TV for $550 and a VCR
a g,o S ~ 2 ~ 3 5" - ;3_,§E for $400. How much did he eam in

> 2 ..

302 398 3 |3 S & & o§3ac commissons? g 11y

> I > |-V N (2] ™~ < suaa X

) o 8 ) 5 S s SBPEE Roblnboughtabowand 15 arrows at

o ){B ° I’g_, T Z‘ﬁ 2 ¥ 2 28Ee Nottingham Archery Supply The total price

g B § 5 & g § ig & was $254. In Nottingham thereis a 6.5%

;{Icq 30’)}{3 3 ﬁ; © ® 0 C:) -4 salles tax. How much tax did Fobin pay?

- R = $1651
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What Does An Artificial Snow Machine Make? How Can You Tell a Dogwood Tree?

Do each exercise below. Find your answer in the answer columnand notice the letter

next to it. Look for this letterin the string of letters near the bottem of the page and Deciqle Whelthelr youlwoulld chooshe mir;tal math, estin;]atilon, ora LODI (paperand
CROSSIT OUT each time it appears. When you finish, write the remaining letters in pelnm orcalcu ar:or) 050 ve each problem. CIRCLE the lener in the appropriate
the rectangle at the bottom of the page. columnnextto the problem.
I. Find the percent of the number. Answers ;I'hen Solve‘lhle Erob(ljem_. Find the answer at the bottom of the page and write the
lener you circled under it.
(@) 120% 0170 Gy @ 200%0f125 25 ® 132
392
@ 04%0t980 3,9 % @ 0.16% 01600 0, Ul ® Choose: @ mental math, E estimation, or T tool M E T
450 — L |
() 180%0t 75 13,5 (6) 3s0%0f32 112 ® -
@ 35 1 In a class of 35 students, 20% of the students play in the school @ V H
o ) orchestra. How many of the students play in the schoo! archestra?
(@) os%of 1600 14, Y 0.25%0f 400 | @ 144 y play 7 ‘
Il Solve. @ 2 Last year the Midas Middle School cateteria served pizza on 12% of i Uuic @
@ A special vitamincapsule provides 250% of the vitamin C @ 7.25 ﬂ?:x‘?g:gsza?ys‘ If there were 175 school days, haw many times was
needed daily. If 60 mg of vitamin C are neededdaily, how L
many milligrams of vitamin C are in the capsule? mg 38 3 Krispy Krunch cereal is 49% sugar. About how many ounces of gugar O ® N
. . 0.96 are in a 16-ounce box of Krispy Krunch? oz
The number of caloriesin a hot fudge sundae is 300% of the . p yvem—" ‘ o ———— Y l P L S
number in a dish of plain vanillaice cream. If the ice cream 445 lene paid $129 plus 6% sales tax for a guitar. t was the ot
has 150 caleries, how many calories are in the sundae? ‘15_0_ cal % : 4 cost? s&#‘
1
@ The value today of a certain rare coin is 140% of its value 2 years ago. rs Ms. Jackson bought a new car 1or‘$9,360. She agreed to pay 10% of M D
If the coin was worth $190 then, what is it worth today? ~ § 2.é& s 25 the cost as a down payment and finance the rest. How much wag,the
| down payment? 3.
@ The money in Laura's savings account is earning interest at the T eweh ; i
. ry marked 18-karat gold is 75% pure gold. How much pul Id is
rate of 8.5% per month If she has $1.450in the account. s D50 6 in an 18-karat gold necklace that weighs 258 grams? ' 1? gg gT AEQ
how much interestis she earning each month? $ 72 @ ;
ks All the clothes at Unique Boutique are on sale. The discountis 33 5% | § G
@ An ore is 0.75% pure gold. How many kilogramsof gold 7 Ny N 3
i o . 12.8 of the regular price. About how much would you save on-a jacket with a
arein 500 kg of ore? 375k @ regular price of $59.50? 3. 20
ABoeing 747 weighs about 750.000 Ib. The original Wright . 150 g | The school dance cammittee had a budget of $200 for the Halloween Cr) PN
Brothers’ plane weighed 0.1% of this. How much did the TS0 ® 3.75 dance. [t decided to spend 25% of the budget on decorations. Hg:
Wright Brothers' plane weigh? ® 620 much can be spent on decorations? $ 20
@ Six weeks ago. Qwerty could type 20 words per minute. 9 A writer earns 8% of total sales doliars as a royaity. If 2,000 copies of LiU
But he has been practicing. Now his speedis 175% of his @ 13.5 his book are sold at $14.95 each, how much money does he r;ike?
speed 6 weeks ago. How fast can he type now? _3_5_ wpm ,3’&
425
AABSKEANANPORAWPMBFLABAXLDLKAERLL S - 1935 35 | | @
I ANSWER TO PUZZLE: SNOW FAKES | BlY | 'TT S B A R K
TCPC 2:h: Finding a Percental a Number
E-27 Parcents Graater TTER 100% o Lose TTEN 1% e o E-28

How Do You Make a VVegetable Necklace? What Is

Use the information givenin the chart o fill in the missingvalues. In the rectangle t h e T i t | e’?
below, cross out the box containing each correct answer. When you finish, write the -

letters from the remaining boxesin the spaces at the bottom of the page.
TO FIND THE TITLE OF THIS PICTURE:
Original | Percent |Amount of Sale Do each exercisebelow and find your
Article on Sale Price | Discount { Discount | Price answer in the code. Each time the
answer appears, write the letter of
the exercise above it.
1. calculator $12 5% (&3 $q
CODEDTITLE.
2. tent $90 2% |$22.50 $67.8D | s P I D ER
$840 $27 $943 $21'<_); $31 50R $36 $425 $421 ,soB .
. ¢ 5 »%  |$l6.25 a5 — s __F R L ED__E G 6_
3. sweate $e ° $ e $‘}e $938 $225 $3810 $1270 $36 $943 $3150 $210 $1.340 $31.50 $3, X
:, dress $78.00 15% $ 1170 |$66.30 I Find the interest
savings account savingsaccount auto loan
5. camera $129.50 40% $Sl .80 $77. 70 @ deposit: $800 @ deposit. $1.400 @ borrow: $5.000
rate: 6% per y« a‘r?b rate: 5% per ye; '2. ° rate: 12% per year 8
) time: 2 years g time: 3 years ] time: 3 years 1,800
6. sports jacket $140 3% |$44 $q| !
A personal loan E checkingaccount ® credit card cash advance
] borrow: $1,250 deposit: $700 borrow: $300
7. tape deck $299.95 20% $54. 99 #239 96 rate. 9% per year rate: 4.5% per year rate: 18% per ye:
time: 2 years$ 225 time. 1 year $31, SO time: 6 months $ 27
8. VCR $575.00 10% 57.5D 17.50 money-market fund savings bond home improvementloan
$ $5 @ Invest. $6.000 ® nvest: $50 @ borrow: $2.000
) ) 1 rate: 8% per year rate: 7 2% rate:10.5%
9. racing bike $360 33t% [$120 240 time: 2.5 yeags time: 10 yegrs time: 4 years o
I b ¢ 1,200 $36.00 vears 384
— R o e e Il Solve (Interest-ingproblems.)
R e oo i, : ® ®
Aldo put $400 into a savings account Gretcheninvested$1.000 in a certificate
17. 1 : J $508.50 9. T 24 1. $75.20 that paid an interest rate of 5.4% per of deposit (CD) that paid interestat a
T IN | GB year. What was the total amount in his rate of 9% per year. How much was the
9 $43.75 12 20N $69.30 i S %0 accountat the end of 1 year? 421.©Q CDworhatthe endof 3 years?: l,270
: . ) ! - (Totalamount = principal plus interest) —~
P EA NI Y, NS | [ @ s G) Rolex borrowed $3.600 from a credit
i , Suzanneborrowed $820 froma bank for union tor 6 months at an interestrate of
9 $227.86 6. - - $64.50 - 7. one year If the annualinterest rate was 10% per year. How much did he owe the
15%. what was the totalamount she creditunion at the end of the 6 months?
s \T R.‘. N Q|8 E|AN|S owed the bank at the end of#he year? ,
s N BEANS ™3
E-29 21 Problem Sawvmg. TOPC 2k Problem Soiving Smple Interest E-30
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fraction whose denominator is a factor of 100 or to 1/3 or 2/3.

*

.
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R B

1
3
2
3

@ 5%
(18) 10%
(9 25%
®3s
@9 20%
@ 50%
(5) 80%
@ 2%
B 0%
(2 64%
(D 0%
Pe @65
(30) 30%

2
3

o each exercise and find your answer in the adjacent answer column. Wri
718 19 1011 1271371415

letter of the exercise in the box containing the number of the answer,

Dy

I

2|3]|4|5(6

Why QD Airhead Bungle Buy a Floodlight for His Sundial?

(©) 200utof 60 is what percent? 334 7, ® %

@ What percent of 90is 97 0%
@ 9 out of 12is what percent? 7 &5 9,
® What percent of 30 is 97 30 o
() What percent of 80 s 567 0%
@ 20-is what percent of 50?7 |+o 7,
@ 12is what percent of 15? @0 P
@ What percent is 24 out of 36? &&
@ Whai percent is 10 out of 500? 2 Yo

(B) 12is what percent of 24? 5O %,
(T) Whatpercent ot 35is 72 20,

© 5 is what percent ol 207 259,

m
w
g

NOTE: The ratio for each exercisein this puzzle can be reduced either to a

NOTE: You may want to have students actually write an estimate for each
percent in addition to choosing the correct category.

What Did the Policeman Say to His Stomach?

Use estimationto choose Category 1. I, or lll for each percent. Under each
exercise, circle the letter of the best choice. Write this letter in the box containing

IC

|

the number of the exarcise.

1 less than 50%

, Il between 50% and 100% lit  more than 100%

@ 39 is what percent of 60?

@®? @1 ©m

@ 25 is what percent of 97?

@n @

(3) What percent of 81 is 70?

©! @l @n

@ What percent of 70 is 81?

® O &

@ 9 aut of 24 is what percent?

@ ®r @

@ 300 out of 405 is what percent?

QL @l GL

@ What percent of 62 is 927

OIINOL @u

What percent of 110 is 225?

@ @ @l

@ 7 is what percent of 34?

@ GG

34 is what percent of 7?

OL ®u @u

@ What percent 1s 25 out of 487

O @l ®m

@ What percent is 23 out of 487

@ ®r Onw

@ Fink s typing speed increased
from 20 words per minute to 45
words per minute. His old speed
1s what percent of his new speed?

Fink's typing speed increased
from 20 words per minute to 45
words per minute. His new speed
is what percent of his old speed?

0L (OL @u

_ @ ™mr  @n

Qs) The regular price of a computer is
$980. but it is on sale for $750.
The sale price is whatpercent of
the regular price?

The regular price of a computer is
$980, but it is on sale for $750.
The regular price is what percent
of the sale price?

TOPIC 241 Finding he Percent
Ore Nuber s of Anoher

o @ @En ® @ @u
IV CINREEEBAREPER

ODE;C 2m Elzlgv’unng the Percert E-32

What Happened to the Plastic Surgeon as He Sat by
the Fireon aCold Winter Night?

31%
k‘ :‘ Find each correctanswer and cross out the letter next to it. When you
o 26% finish, the answer to the title question will remain. (Round each answer
& to the nearestwhole percent.)
94%
a 86% @ Whatpercentis 5 out of 12? 429
u .
: w | 65% @ What percentis 6 out of 7? 86 70
g & | 34% @ 19 is what percent of 307 ©37
o
w" 76% @ 6 is what percent of 11?7 55%
T |18% 7
@ Whatpercent of 16 is 5?7 31%
| 24%
@ What percent of 51 is 12? 2'4%
— [ 14%
5| 429 ® What percentis 3 out of 707 '+74
| 7% 75is what percent of 967 78 7» \
x| 17% @ What percent of 18 1s 177 4%\ - . -
w | 56% 1 out of 6 is what percent? |77J M
0/
} 8% @ Jewelry marked 14-karat gold is ;: pure gold. What percent is this? 59 7o
x!72%
- - @ Julie has read 27 pages out of an 80-page book. What percent of the
= |45% pages has she read? Y70
w | 92% @ Kareem shot the basketball 32 times and made 23 baskets. What
>~ 55% percent of his shots were baskets? 4
Cl
> o ATV stationhas 11 minutes of commercials for each 60 minutes of air
58% A Es :
R time. What percentof air time is used for commercials? {8 Do
T | 36%
@ The Hawks won 7 games. lost 6 games, and tied 2 games What
™| 47% percentof all the games did they win? 4 7 %a
h‘ 63% The humanbody is 65% oxygen. 18% carbon. and 10% hydrogen. The
A 4% rest is other elements What percentis composed of other elements? 77.
o
TORC 2, £ Percert
E-33 Gro NS s & Anather

NOTE: You might want to discuss the last problem in the context of the
Pythagorean theorem. The smaller screen measures 15 by 20 in.; the larger
screen, 24 by 32in. (a 3:4 ratio in each case).

Why Did the Man in the Shower Say,
“Soap, Soap, Soap?”

Solve each problem below. (Round percents to the nearest whole percent.) Fing your‘]

solution and notice the two letters next to it. Write these letters in the two boxes
above the exercise number at the bottom of the page.

@ 72
OEX
251
$1.514
() 5716
(59) &%

@ On a math test. Miranda got 17 out of 20 problems correct.
What percent of the problems were correct? 85 70

@ Last semester. 150 out of the 800 students at Jungle Junior
High made the Honor Roli. What percent of the students
made the Honor Roll? V9%

@ The width of a singles tennis court is 75% of the width of a
doubles court. A doubles court is 36 feet wide. How wide is
a singles court? 27 F.'..

@ About 60% of the human body is water. At this rate, how
many pounds of water are in the body of a 95-pound

person? 37%
@ Tapes-R-Us is having a sale on HQ tape players. The @ 85%
regular price is $60. The discount is $18. What percent
discount is this? 307 (o0) sazrs
(8) Mr. John Doe was figuring out his federal income tax. His —
income was $26.800, but he was able to subtract $5,500 in @ $1.444
deductions. He paid 15% of the remaining income in tax.
How much did he pay? % ) @ 30%
@ Steve put $500 into a savings account. At the end of one 271t
year. he had earned $30 in interest. What interest rate was
the bank paying? &7 53 1b
0 At Marble Middle School. 35% of the students are 6th o,
graders. 32% are 7th graders, and the rest are 8th graders. %
What percent are 8th graders? D33 7o AF) 33%
@ Mr Spoke is a salesman at Pop's Cycle Shop. Each month
he earns $800 plus 7% of his total monthly sales. %ow much @ 8%
did he garn last month if his sales totaled $9,200?9 | , ‘-i'-l» %
The area of a 25-inch TV screen is 300 square inches. The
area of a 40-inch TV screen is 768 square inches. The area < \\‘ .
of the smaller screen is what percent of the area ot the \ 25" \4\‘]
larger screen? 39% S N
H|E WA S|S| N._GELL_NLG& AlF A__RL S
5 L2 7 8 -
HE wAS SINGING A FE B
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NOTE: The directions tell students to use fractions in Part | and decimalsin
Part il. Students should begin to recognize the percents that have easy
fraction equivalents. On page E-36, they must make the discrimination
themselves.

Books Never Written

Why Can’t an Elephant Ride a Bicycle?

Do each exercise and find your answerin the corresponding set of answers. Write the
letter of the exercisein the box containing the answer.

I. Find the number. Use a fraction for the percent.
@ 20% of what number is 8? “-O ® 20% of what numberis 15?7 7 g
@ 25% of what number is 7? 28 @ 30is 25% of what number? | 20
(R) 241s 50% of what number? 48 (0) 4505 50% of what number?J 00

33 % % of what number is 127 36 ® 33 % % of what number is 32? q§
@ 2501is 10% of what number? %2 soo
@ 11is 12 3% of what number? 88 @ 50is 12 % %of what number?

@ 1% of what numberis 37 300
300 | 60 [2500] 40 [ 72 as—Puoirzo 1801 36 | 140
s| Njo| [THHUMB

it Find the number. Use a decimal for the percent.

@ 24% of what number is 54? 22 S

@ 80% of what number is 72? qo0

@ 10% of what number is 16? |@©

@ 5% of what number is 9? | 80

75 |800] 96 | 48
T 'H A

160

28 {soo
T 0

® 40% of what number is 14? 3§
® 15% of what number is 9? &
® s4is 2%t whatnumber? 7S (B) 561is 56%ot what number? | 00
@ 33is 6% of what number? SSO
@ 75% of what number is 962 | 2 8
@ 329 of what number is 4.82 {9
@ 3.6is 45% of what number? 8
4.5i8 9% of what number? SO

100 [550 | 8 225
R l‘

375

N e

5 “123

TOPIC 2:0° Finding a Number
35 VGReR 8 Percent of 15 Known

Getting What TheyOwe Youby S U B M. Now
16 9 2 15 11 7 1
How to Get Into Shape by X. R. s | ZLEMDO R E
8 13 16 5 10 2 15 7 13 2
Most Embarrassing Momentoy b= U € Y LASTI C
14 9 12 4 14 6 16 3 5§ 12
ABOVE ARE THE TITLES OF THREE “BOOKS NEVER WRITTEN." Answers
TO DECODE THE NAMES OF THEIR AUTHORS:
Do each exercise below. Find your answer and natice the jetter next @ 75
to it. Each time the exercise number appears in the code. write this
letter above it. @ 240
I Find the number Use a fractionor a decimalfor the percent. @ 63

@ 25% of what number is 16? o' @ 10% of what number is 807800, @ 236
@ 36% of what number 1s 72? 200 @ 4% of what number is 25?615. @ 40
@ 92% of what number s 692 7S @ 65% of what number s 5228 @ 64
(@) 20%of whatnumberis 3.47 17 44% of what numberis 5521258 (8) 750
@ 33 :; % of what number 21763 50% of what number s 7.5? 9 @ 8

Il Solve ) 125

@ The fastest speed recorded for a runner 1s 27 miles per hour. This is ® 200
20% of the fastest speed for a water skier Find the recard jof g.water
skier 123 mph @ 15

12 Bowsers dog food is 60% meat. If Bowser needs 24 oz of t each
week how many ounces of dog food shauid he eat? f“?é oz @ 2.500

@ The length of a ship model 1s 3% of the length of the actual% The @ 800
modehs 15 mlong How long s the actual stip? ~.m

: ’ (@) s00
Students at Lincoln Middle School sell gift wrap to raise money for X/
student activities The school keeps 40% of sales How many,do] 17
worth of gift wrap must be sold to make $1.000? $yi£_?5° @
@ An arline knows that only about 75% of those who make a @ 135
reservation actually buy a ticket At this rale how many resgryations
should the awhne accept to fill a plane with 180 seats? EB @ 625
@ Safe Side Bank pays an rnterest rate of 8% per year on certificate ® 50
accounts How much money must be put into an account to Q?rgﬁo
n one year? $ 12" ® 2150
TOPIC Z 5 Finging a Number
Winen a Percant o115 Known E-36

What |sthe Bet Way to ServeLion Meat?

Solve each problem and find your answer in the rectangle below. Cross out the box
that contains your answer. When you finish, write the letters from the remaining
boxes in the spaces at the bottom of the page.

@ The tallest man ever recorded was
Robert Wadlow, who was 272 cm tall.
Astro Knot weighs 150 Ib on Earth, how The tallestwoman on record was Zeng
much would he weigh on the moon, Jinlian. Her height was 91% of

Y16 Wadlow's height. How tall was Zeng
Jinlian? (Round to the neares

@ There are 7 oz of sugar in a 16-0z box cm
of Honey Hunks Cereal Whatpercent
of Honey Hunks Cerealis sugz)+ A color called "Passion Purple" is made
(Roundto the nearest percent. '+ % by mixing 5 0z of red paint with 9 oz of

blue paint. What percent of Passion

Purpie is blue paint? (Round mm

nearest percent.) %

@ A person standing on the moon would
weigh 16% of his weight on Earth. If

3 A salesmankeeps 20% of his sales as
a commission.How much does he have,
to sellto earn $1,0007 32 @ The height of a model rocket is 4% ot

the height of the actualrocket The

medei is 1.8 m high How mghd'iéhe

actual rocket? F9 m

The regular price of an FX-1 electronic
keyboardat Circuit Circus is $200. Itis
on sale at a 25% discount Whaxl'séha
sale price’ 3

Jennifer's new bike cost $180 Her
parents paid 40% of the cost and
Jennifer paid Ihe rest. How much,%

@ A baseballplayer got 10 hits in 39 times
Jennifer pay? $

at bat What percent of his times at bat

did he get a hit? (Roundto th rest

percent.) % % @ In a poll two weeks before the
Presidential election 37% of the people

@ A math class has studied the first 330 said they would vote for the Democrat

pages of their textbook. It this is 75% of 42% said they would vote for the

the entire book. how many paggfﬂan Republican. and the rest were

the book? T undecided What percent wereq |

undecided? B

N
1's H

E-37 TOPIC 2 P Probiem Soivig Mixed Appications

JEANIUS

NOTE: Additional practice in finding the mean is found on pages A-64 and
6-72 of this series.

102 What Do They Call the Guy Who
Invented the Firs Blue Jeans?

~
n
3

Find each answer and cross out the letter next to it. When you finish.
the answer to the title question will remain.

[

1.The scores of 5 golfers on 3 rounds of

N
[72]
™
O 2545 miniature golf are %iven in the table Round Round Round
- | 105 Find each'of the following. (Round to
the nearestpoint.)
b |o7 A. The mean of Ray's scores, 97
- Y - Jul 8 1
> |84 8 The meanof Julis scores 1 2 jo2 b,(ulk ' 92 i‘;;
C The mean of the scoresin Fﬁand 1 ay 103 %
D. The range of Hal's scores. 29
‘8 74s E. The range of the scoresin Round 1.
s F. Therange of the scoresin Round 3. 20
86
k 2. Find the mean of the first 10 counting numbers (1 through 10).
14
b. 85 3 Find the mean of the squares of the first 10 counting numbers. 38 .
= 4. Practicetimes in the 200-meter dash
z T\__, for 7 runners are given in the table. Name Toai1 Tral 2
4 ’ | @ (s)
< | 420 Find each of the following. (Round to
N D the nearest tenth of a second.) ':":S :‘7 ; gg;
103 aul
N A. The mean of Raul's times. 25.45 | coun e | 275
77s B. The mean of the times on Trial 1 276§ Renaldo 281 3
% (99 C. The range of the times on Trial 1. 7.2 g:“v: g?g :’g;
_ D The range of the times on Trial 2. 7. ¢ H:c.m ‘ 200 30
wl!s1s E The range of all the times given.— s
& 26 5. The mean of 4 test scoresis 90. What 1s the sum of the scores? 360
N [o2 6 If the mean raintall in New Yorkk%y \gs.CM inches per month, what was
the total rainfall for the year? D IN.
é 27.6s 7. Each student listedin the Name [ Test1 | Test2 | Test3 [ Testd
L94 table has taken 3 math BN 78 | 78 78
P tests. Find the score each | giy 88 79 n | 9
student needs on the next Phit 72 82 82
< |265s test in order to have an will o1 64 76
}\ 80 average u
89
55 8 Huck'sbowling average over 5 games- wafdg He scored 118 on the
A next game What was his new average? ©
TORC 3-a Mean and Range E-38
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NOTE: Exercise 2 illustrates how an extreme value can influence the mean
more strongly than the median.

According to Math Teachers
Wha Happened to the Ca who . ;
Swallowed aBil of Yarn? What did the Acorn Say When It Grew Up?

‘ Do each exercise and find your answer at the bonom of the page. Write the letter of

Cross out the box containingeach correct answer. When you finish, write the letters the exercise in the box above the answer.
from the remaining boxesin the spaces at the bottomof the page.

I. Use the pictographat right to answer each question.

- . E .
@ Find the median for each set of data. Price cfzsgr':" \;Irlegame a How many albums does a whole symbol
? 20 Disco Bob's Record Collection
A 49.32.67.55.58 s 75 sa3ge 2D represen
B. 31. 52 44,5.0.38, 26, 4.7 . How many albumsdoes half a symbol
C. 20,1230, 22, 7, 23, 36, 15. 18,9 2.0 represent? | O [ Type Number Owned € = 20 albums
D. 816,83.7,78.5,828, 81.2, 76.3,83.5,789 B1.4 4530 _ _ { s [0 OO
€. 110, 115, 109, 110. 116, 113. 112, 116. 110. - . @ Eo many ¢jacgicalalbums does Disco
106113 || 2 $42.70 coomn” 60 [ soul 000¢
@ E - How many country albums does Disco u
The weeKly salaries for 5 people who Serotsgedon  $45.000 Bobown? {1 O jazz o<
wok at a Las Vegas hotel are given @ How many more soul albums than jazz
in the table. . Chiet chel 1500 albumsdoes DiscoBob own? + O rock 00000000 |
. 10,000 Publicity director 1100 Disco Bob paid f about
A Whatis the mean salary? ’ ppaid an average or abou
B. Whatis the median Sagry? 51,500 Mdeguam ® $8 for each of his rock albums. cauntry 00000¢ |
About how much did he spend
@ Find the mode (or modes) for each set of data. altogether for his rock albums? $ 1,280
A. Suit Sizes 8. | Times in 50-m Dash (s) C. L Runs Scored | II. The table below shows how many computer games were sold by Action Games Software
5716316769 37728 4 in June. Round each number to the nearest 50 games. Then complete the pictograph.
¥ D s 59636770 4 05 7 using whole symbols and half symbols, and answer the questions below.
¥ D 4 60|64 |68 |72 22415 .
|8 4 4 60|65(69|73 7I11s51817 Kong IV 554 Quttand 663 Action Games Software
f;'g g ﬁ 4o 62656973 é qsl 0 | 5 |3 ‘ 2 le I Vindicator 387 Bug Anack 319 June Sales
63676975 B 6|4|9]5]9 Stellar 9 246 Meg 795
3404 : 2and 5 Game Number Sod [ = 100 games
di
@ The table gives typing speeds for 12 Speed Speed @uav&/igat\lrj\ry?sylrﬂaols ¢ youdrawor Keng IV D -pEont
students in words per minute (wpm). Name (wpm) Name {wpm) i »
i i i How many symbols did you draw for i
Elr:d the following for this set of Damy | 3t Alison o @ Outland?yé i y vindeater | ] 8 B8
ata. Celeste 27 Ramon 2 i selars | B ERE
22 " Michael 5 George 18 How many symbols did you draw for
A Therange wp Kalon 3 Jackie 35 Megatron? & Outland FT T L L
B. Themean 2.6 wpm Matt 24 Kim 28 ® For each game sold. Action Games
Ec)v ;:: :gg??or mn%eg). swe mm Rachel 3 Robert Ll made a profit of about $10 Bug Attack aoo
: 24 we Give an estimate of their total
SH EH } AD M profits an these games in June. Megaron | O &R O ag ﬂﬂ ‘
/5 wp 3 20 o A7 500 27 wom | AN A2\ 821 L Wi 511 200 30,000
T TE | NS I G E B 1'm A T R E|E
nd 42 70N 653 55 38 14 40 4.4\ $43.20 0.0 4 8 110 $1280 H D R 5; $24000 60 7 4 $30000 10 4 $1360
WSHETHATDTMVITITEINTS
SvrE HAD MITTENS TOPIC3 ¢ Pictogragns E-40
E-39 TOPIC 3-0 Median ad Mode
What Do You Call a Fake Chart? Bar GraFun
Circle the letter of the better answer Siers at JCacr)]Ith);?;jc; g/lountalns
for each exercise. Write the letter in 1. Use the databelow to
the box containing the exercise number. :f make a bar graph 2000 TTLE: Famous Towers
showing the heights of
1. How many skiers wegg at Aspen? five famous towers. 1.800
©ro (a)) s.000 9 Famaus Towers 1,600
2. How mapy skiers were at Telluride? 7 X 1,400
@4,500 (V) 5000 2 Lot 8 g1200
2 = L
3. How many more skiers were at Vait Eiel Tarer 966 ::-1' 1,000
than at Keystone? 8 i CN Toner 182 &
(K) 7.000 8,500 3 3 Sears Tower 1454 T 800
4. How many skiers were at the four ,-g 2 g"‘""’ State 1250 600
mountains altogethy v:'":‘g s 400
™) 30.000 () 28,000 a eSnnglon %
5. What was the mean number of skiers Aspen  Telluride Vail Keystone 200
at the, mountains? 0 1
7,000 (B) 6.500 Eitfel CN Sears Empire Washington
Tower Tower Tower State  Monument
— Softball Team Records Building
6. How many games didllhe Bears win? L - fost
(S) 30 25 8 w .
7. How many games gidne Boars lose? 2. The Student Council took a ©O TITLE: MOV!Q Attendance.
F) 39 87 survey to find what percent
! of the students had seen 55
8. How many more games did the Boars four recent movies. Use the
Hawks lose than winZ, data below to make a ,,,ﬁg —
4 uble-bar graph showin =
the ercenl%ﬁ?o sand tls @
9. How many more games did the Doves wha had seen aeh mov?Z, 3 3% ||
Rats wig, than the Boars won?
Begin by completingthe 230 —
19 m 16 Hawks Y/ horizontaland vertical 23 | |
10. Which team won twice as many scales. § 20 | |
games as it lost? m K
ovie Attendance ||
(E) Doves Rats R - 15
ats Movie Boys | Girls. 10 -
11 What fraction of its games
did the-Rpves win? L ‘ Sooks |5 | S0 5 - u
3 w) 0 5 10 15 20 25 30 35 40 Lave Poton | 23% | 29% 0
5 Games RobotWar | 42% | 16% B G 8@ 8a B &
- Spooks Love Robot Beach
1y 2 _ Beach Blast | 38% | 47% o
i otion War Blast
WU I |
Q ' B=Boys G =Girls
I:[ i FONYRGRAPH 4
E-41 TORC 3a Bar Graghs TOPIC 3-d Bar Gt E-42
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How Do You Repair a Broken Tuba?

Complete each table. Write the letter for each frequencyin the box above the cor-

ErrEery

§ responding value at the bottom of the page. Make a histogram for each set of data.
.1
>

B Sogres fir 40

7316097 |53
88180 | 69
83|57 |88
72|94 |66 |84 77

HA2RB |

Waights for 100 Students (kg)

48 (64 )58 | 45|83 [ 55
48 (52|54 145[41)83
5050|5243 |56 |36(51 |42
46 (55| 62|59 |51 |52
65 )58 [ 54

49 |56 (63 (48 (48|62
39 (68 [52)|44 | 59
53 (41|59 |50(38
61 ’ 46 ( 36 | 57 | 48| 54 | 45 | 60

E82R&|BBERY
a8
3
g
&

62 (51|63 |42 57|55 43

Weight Tally

14

12
10 -

Frequency

——

=

o
22

41-50
51-60
61-70
71-80
81-90
91-100 |

Score

SRR

£

36-40

el

Al

T I
4145 | JHT 1
46-50
51.55 |}

bt b vd b

=3

[T

Frequency

S =

(6]

56-60

5=

W
(Y

61-65

66-70

—

Ve swis

®Wr|Hdj~]c|T

ey
51-55

56-60

6165 [ |7
66-70

Weight (kg)

[WIT 17 TH

[1 ]
0 28 4 ®

ATV [AJG]LJUE]
T B 2 3 7 5 T 2 6

WITH A tupA GLUE
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TOPIC 3-a: Histograms

3 - o
o 2 . I =
. 3 ¢ . 5 g 2 2 5 §
[y L] @ = g 3 = 2
£ 5 s g 3 5§ = ¢ & 3 3
v B 5 2 2 3 $5 & E . o
8 9 2 . 2 £ 39 g4 5 2 38
" - £ % 3 vg o g L& g e E & §
=g § sa2 2 388 888 85 g5 8
2 e € 3zBony oleg g $88% 90 25 3
-2 I~ —- - £ o Zo
T ist.e@:ie; 2;00%cs @343 &3z
.E ® %’g .‘?_,L g vy §c E%o é'g‘ @ c'§§1§ §;§o
% 3 28 E,35 2% (S8 38 vg £ 32%§ gs8
< 2° 5-52 £ B8 5g-n2d ze8 Eé z ¥ ggr g%%
c 203D :2 10820|fz 22 @2 201D
& g 8z s £V 8B |3 33 £ 33 ER <%
oz EZ B 3 32 |5 3% E 35 I3 3is
@ g 3 : E 2y 3 88 = 3z ¢ @
‘- 3 2 8 = E2 28 = 23 =2 £8
E — o o <~ wo @ r~ o o = =
o
=] w ¥
-é E + ’]‘r 8 T ! . a :o.
= 1 i s
FREHE & -3 ‘ =d
S i8¢ A 3 ° [«a]w
5| % . Sho
ﬁ«’?‘: bt .// [ i._a ~ - @ ntu‘.‘:
L AEHE = Hsg 3 \[ Y [:_J
o |=5|%F : —ed 7 < |=a
- (22o [ 1] [ Jo_ 8 \ 4l a
w 35|50 v %g 3 —-f [F &
& |is 9-%71' TIEE 8 \ .2 {-olg
o |aglsp !t LEES ey N VD 3
Q|5 x|t —eE sl 8 e ! EEIR:
. i N ] g =
e l58 sk e  J[28 ] <o £
(-] s|a| I T = # < ____l
23| ¢ T [ K w3
L |38 3 118 - - = w
- g.s a i e : T ~
5t 4 3 i
S |58 1o 3 X0 9l s
= |22 t ° A, [«e]®
28| ssgegsse gresge- [WY
o3 (uw sed siE8q) 8SINd PIOS 185 {0 SPUBSNOY) o
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TOPIC 34 Line Graphs

Line GraFun

1 Use the data below to make aline
graph showingthe temperature

TITLE: Hourly Temperature

WHo MakEs RAINWATER MiX WITH DIRT?

Cross out the box containingeach correct answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

Lion Tamer's Expenses
total; $400

@ A lion tamer spent a total of $400. The circle

each hour for a day. graph shows what percent was spent on each
; 65 item. Find the amousmtispent on:
Hourly Temperatures 558 $6M
AM. _ P.M. _ A costumes; B. chairs; C. whips. Costumes
1200 49°F 1200 61F o %0 @ What percent of the total was spent on lion 35%
100 47 | 100 e2 e toys? ’,
200 48 200 63 g / 27%
300 46 [ 300 es % 55 @ How much money was spent on lion toys? § {08
oo 6 [ em e | & : i
;_gg :s ;;gg gj g What percentwas spentfor chairs and whips
600 48 i rm 8 50 combined? 389, Lion to;s
7:00 51 58 @ How much money was spent for chairsand ~27%
800 53 |{ 800 56 { whipscombined? ¢ |52
9:.00 54 Ll 9:00 S2 45 T
100 _57 -———1‘0200 ot 122 4 6 8 1012 I2 46 8 10
1100 $9 11:00 48 , - .
AM. TP'M' @ During the first week of summer vacation, Bosco's TV Viewing
ime Bosco spent 50 hours watching TV. Use the total: 50 h
TITLE: Daily Attendance gggLet%Jr:t%Eit:gf-md the amount of time he
2. Use the data below o T ] oh = 12.5h 5h Comedies
make a double-ine graph L] A. comedies; B. game shows; C. movies. 329
showing the number of
visitors at two amusement a @ What percent of the total time was spent
parks each day for a week. - watching soap operas? |49,
Beginby completingthe _}_§ ¢ ‘ How much ﬂg‘le did Bosco spend watching
horizontal and verticai g (4 soap operas?  q 5 h
Scares. 5 h \ How much more time was spent watching
4 2 sports than movies? 2 |y
Dally =g . .
- g \ What is always the sum of the percents in a
Water Animal 3 \ circle gr aph') ’I
Day World Land S s y g : 100%
Sun 7967 5.140 = )
Mon 3512 | 1864 2 A T MU DD ER
Tues 3833 1,328 1 oY 35h 7 23% / $112
Wed 4,760 2,465
Thur 4184 | 5730 I | NA TU C RE T, UP
Fr 5675 | 3291 s M T W $144 i1h 50%
Sat | 9326 4,622 Day
KEY: ——— WaterWorld - - - - - Amnmal Land MIlv (DD E R NIA[T |y E
L
£ MUDPER NATURE
~ TOPIG 31 Line Grapns TOPIC 3-g: Gircle Graphs E-46
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NOTE: Stud%nts will need protractors for this puzzle and the next.
v
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o 88 aé"n;d‘-}*ﬁ
23 £ -3
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TOPIC 3- Circle Graphs

Why Did King Kong Play with
the Flying Saucer?

Complete each table. (Round each answer to the nearest
whole number. if necessary.)Write the letter for each
answerin the circle at the bottom of the page that contains
the answer. Constructa circle graph for each set of data.

Instruments in the Arithmics Rock Band

Family of | Number of | Percent Central
Instruments | Players of total angle
Brass 7 () 357 (1) 126
Woodwind | 4| (E) 2070(G) 72°
Strings 5 A 25%[(0/ 90°]
Percussion 3 s) IS 7| (&) 54°
Keyboard 1 (W] 5% [T

TOTAL 20 100% 360°

Clubs at Jaws Junior High
Number of | Percent Central

Club Members of total angle
Drama 22 A 297 () B6°
Cratts 27 | (U 07 5 108°
Computer 16 € 18% (1 65°
Magic 10 F) 11 T[T 4O°
Games 15 (H |77 B Gl
TOTAL 90 [ w1007 (5)

TOPC 39 Curcle Gapts

Why Did the King's Birthday
Celebration Last So Long?

Do each exercise and find your answer in the
Code Key. Notice the letter under it. Write this
letter in the box containing the exercise number.

ikh

|. Find each p‘robablli(y if you spin the spinner once.
@ P(red) B~ @ P(green) §
(3 Plolue or white) @ Pinot yellow) &~
@ P(not red) 3‘ @ P(blue or red or yellow) &
{l. Find each probabilityif you choose one card at random.
(7) Pistriped) 'g' . P(white) Ji

@ P(shaded) 8 o P(white or shaded) &~
@ P(striped or white) g‘ @ P(striped or shaded)

@ P(not striped)‘é‘ P(not white)

(1) Pistriped or white or shaded)

1

G

Code‘
_

=~y
T |ofw

o |als
m|glo
< |}

1
5
5

5

2

{il. Solve.

Whatis the probability of guessing
the correctanswer to a multiple
choice questipn if there are 5
choices?

What is the probability that your
birthday will il on Saturday or
Sunday? 7

Aclass of 25 studentshas 15 girls
and 10 boys If one studentis
chosen at random, wh% the
probabilityit is a girl™ 5

@ What 15 the probability of guessing
the correctanswer to a true-false
question?

What s the probability of winning a
raffle if 500 tickets gre sold and you

buy 5of them? 760

There are 26 letters :n the alphabet
What s the probability hat a letter
chosen at random ig jn the word
MATHEMATICS? 5

TOPC s.a Probabildy

When theBoy Tire Maker Married the
Girl Tire Maker, What Did Everyone Say?

‘ Do each exercise and find your answer at the bottom of the page. Write the letter of ‘

the exercisein the box above the answer.
l %
F

@ If youroll the die 60 times. about how many times would you expect to get a 1?

1. Suppose you roll aregular 6-faced die.
@ How many equally likely outcomes are there? &
@ If youroll the die once, what is the probability of rolling a 3?

@ If you roll the die 300 times, about how many times would you expect to geta 57 5&Q
o

2. A spinner is'shown at the right for which each outcome is not equally likely.
@ If you spin the spinner once, whatis the

probability that it will stopon A?
-

¥

@ If you spin the spinner 50 times. about how
many times would you expect it to stop on A?

@ If you spin the spinner once, what is the
probability that it will stop on B?

2S5

@ If you spin the spinner80 times, about how 2
many times would you expect it to stop on C? o
NN NN N NN NN NN NN NN NNNEANNRRENNNEENNRRREEE

3. Find each prob yif you choose one marbleaa( random. E
@ Plyellow) O @

@ Piblack) o @ P(striped) —é—
AN NN NN NN RN NN NN NN NN NN NN NN NN NN ENEERRERREEREE

4. Solve.

@ If you flip a con 150 times, about how
many time%\guld you expect to get
heads?

© The letters a. @. « o. w, and yare
vowels. 1f one letter of the alphabet is
chosen at random, whatis the _3
probability it is a vowel? 13

UF‘EY\ M ATK H
25 10!1%

T
1 1
2"13 z|
TOPC 4-b Probabiity Expected Outcomes

(A Pinotblack) 75 - ©® Prrotwhite) 2o, @ ‘ @
(R) Plolack or white) &~ ~

® i you randomly pick a date in April.
how man e81ally likely outcomes are
there?
A magician asks you to pick a card.
any card. from a standard deck of 52
cards. Whatis the prﬁibility of
picking an ace? 3

3

<

3
3

K
30

N[
75]50

S|P la RIE

225+ 45)

I~

=
o=

0|6

13

o

E-50
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NOTE: For the firstfew exercises, you may want to have students make a list
of all possible outcomes, or sample space. You might follow this puzzle with a
discussion of certain special sample spaces, such as for a roll of two dice.

Why Was Jesse James
In the Hospital?

Find each answer in the code at the bottom of the page. Write the
letter of the problemabove the answer each time it appears.

@ If you spin each of these spinnersonce,
how many possibleoutcomes are

NP

® The students at Metmac Middle School
are tryingto choose a school mascot
and a school color. The suggestions for
mascot are lion, bear, and porpoise.
The suggestions for color are red, blue,
and gold. How many different
combinations are there? q

® Mr. and Mrs. Quagmire are trying to
decide on a name for their new baby
girl. For a first name, they like either
Melissa. Jennifer, Karen. Lisa, or
Susan. For a middle name, they like
either Anne or Jean. How many
differentchoices do they have? 10

@ Elmo decidedto take two classes
during summer school. For first period.
he can choose either math or English.
For second period, he can choose
either art, music, drama, or cooking.
How many differentschedules of two

® Glitzy just bought 4 blouses, 5 skirts.
and 2 blazers If all the patternsand
colors match, how many outfits can she
make? .,{_ o)

(7) Pizza Mind Pizza Parior has 8 kinds of
pizza, 3 kinds of salad, and 4 Kinds of
beverage. If you order one item from
each category, how many different
mealscan be ordered? qb

@ According to the map, how many
different routes are there from A to D? |8

A C
D
)

@ Shoe World sells shoes in 20 different
styles Each style comesin 4 colors and
9 sizes. If the store manager wants to
have every possible combination,how
manypairs must he keepin stock? ‘7 2.0

In Cornville, bicyclelicense plates have
2 letters followedby a 1-digit number.
How many differentlicense plates are

possible? & , 70

When you order a sandwich at Nelly's

What Do the Police Put On a Bad Pig?

Cross out the box containingeach correctanswer. (If an answer appears more than
once, it doesn'tmatter which one you cross out.) When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

1. Find each probabilityif you spin both spinners.

P(white. A) =% P{white. B)
N3 3

@ P(sttiped, A) 2 @ Pstriped. B) A

i
() Pinot striped. A) 5, (8) Ptnot striped, B)
(@) Finotwhite. A)_:L P(rotwhite. B) §
(&) Piblue. 2) i'.—‘_- P(blue. not 2) _.254
@ P( yeliow. even) i‘ @ P(red, evan)&_ o
@ Pinot blue. 5)_81. P{not biue, odd) % .
P(red. 4) L P(red. not 4) 5.
® Prssor L s
replace it. then pick a second marble. 7\/‘\/\/\}%
) - - -
(1) Piolack. white) 7@ Piblack, striped) | _
@ P(black. black) _1_ @ P(striped. striped).:;_
@) Pwhite. not it 2(23) Pirot white, not white) 4 eee
1
@ A test has two multiple choice @ One letter is randomly selected from
questions. each with five choices
is randomly selected from the word
the correctanswer to both questions? _{_ JOKES. What 1s the probability that

It. Find each probabilily if you spin the spinner aJ&nﬂ the number cube.
Il Find each probability if you pick one marble,
e, st e, striper) L \/
P(white. striped) Jw  (20) P(not white. striped) ~=—
( iped) rn O ped) 3 O O
2
IV. Solve 1
the word MATH and a second letter
What is the probability of guessing
25 both letters are vawels?

classesare possible? Deli. you can choose from 4 kinds of -
bread and 7 kinds of meat. On any HNEAE/ ANTAPANPALI/Z M\Gy| C \O,

© If abaseballteam has 5 pitchersand 3 sandwich, you can have mayonnaiseor 1 1 i | 1 1

catchers. how many differentpitcher- mustardor both or neither. How many 7 /8 3 /10 s\ 16 V1A | 20 V2

catcher combinations can be used? (& differentsandwichescan be ordered? |2 SASALS FNAAEANE/Z F NAA T/ S \E

i 3| X 5 7
CODED ANSWER EAY é 1] 8\ 10 \ 1‘5 , 8 2 15 /1
T
BEo WASmA LS8+ EC . SHOAQTER H.AMCIUFIF]
40 9 92 18 8 112 880 8 24 112 12 15 6760 6 112 40 720 720 96 § 10
TOPIC 49 Indepandent Events E-52
E-51 TOPIC 4-¢: Possible Ouicomes
NOTE: Students may find these exercises quite challenging.
1
What Do You Get if a Bunch of Why Couldn’t the Church
: ?
Bad GuysFall in the Ocean? Steeple Keep a Secr et

Cross out the box containing each correct answer. (If an answer appears more than :r?g\:\?eiig?u%%blle\/ﬁgetfg ;?:rg??hf;;ssxgl;zlggcfe

once, it doesn'tmatter which one you cross out.) When you finish, write the letters b taini fh ber of th bl

from the remaining boxesin the spaces at the bottom of the page. 0X containingthe number of the problem. °

(XXX XN X
L]
In hy 6 things? . 690
1. Find each probability 'lfgou pick a card, do notraplage it, then pick a secondcard. @ i how many ways can you afrange 6 things? 72.0 : ®
@ P(black, then white)s—é@ P(black, then black) W l:l m @ In how many ways can you arrange 6 things. 3 at atime? } 2 © . ® 15,120
Maria keeps her 4 stuffedbearslined up on a shelf over her bed. : @ 20

(3) Puwhite, then black)i@ P(white, then white) 'ZEC BE_ BEREE

It Each letter of the-word BANANA is written on a card. Find each probability it you pick two

cards without réplacingthe first.

(3) P, thenN) 15 (5) P(B, then A) v

j @ P( N. then B) T5-
P(N, then A) -_,l; (®) PA then B) T6 P(A, then N) -é-

(@) PN, then Ny E (@ P thenA) L (1) P@.thenB) @

Il Find each probability if you pick a marl':?e, do not replace it, then pick a second marble.

(R =red: B =blue; G = green)

P(blue, then preen)lz@ P(green, thenred) -9—

P(green, then grej:
Plred, thenblue),

P(green, then not green) 36
Pired, then not bluer \BJ(B)(B)} \\

{
7

Plolve. thenblue)<lz @) Pnotblue, then not blue)fi A®®

IV. Solve

@ There were 6 purple socks and 4
orange socks in a drawer. Zucky picked
one sock without lookingand then
another without looking (or replacing
the first). What is the proQability that he
picked 2 purple socks? 3

@ There are 10 boxesin a grab bag. The
boxes are identical except that 7 of
them contain $20 bills. A contestwinner
gets to pick two boxes from the grab
bag. What is theirobabilily of getting
two $20 bills?

o~ .
X [ {T/ I AC NE:! E O RI h D
A 1 1
0Y3 3 12 /18
J! NS,
>__< i
Y15 V715 56\ 5
E-53 TOPIC 48 Dependem Events

How many arrangements of the bears are possible? 2_0{

®s
(W) 40320

@ Eleven people are competingin a sack race. Thereis a blue ribbon . @ 110,200
for first. a red ribbon for second. and a white ribbon for third How
many ditferent first-second-thirdplace finishesare possible?q q & @ 720

@ How many different 2-letter arrangements can be selectedfrom the 5

[ ]
*
L]
lettersn the word CANDY? .0 :

David has decided he wants to call Jessica. Martha, and Eileen, but : ® 14,830
he hasn'tdecided in what order to call them. How many choicesdoes o
he have? (a o (D) 20760
L]
@ The teacher plans to assign 8 students to 8 desks for a debate. How . @ 24
many different seating arrangements are possible? \¢ O N %20 H ®
117.600
L]
In how many different ways can a president, vice-president and .
secretary be electedfroma class of 32 students?29, Too (] @ 36
@ If a school offers 9 differentsubjects, how many differentschedules L] @ 990
of 5 classes are possible? | ‘5: 120 :
120
Tak-Kee Plastic Company prints a 2-lettercode on each of its H @
products How many different2-letter codes can be formed using the . 650
26 letters of the alphabet if the two lettersmust be ditferent? @ &0 : ®
41.150
@ Sureleck Lock Company makes combination locks with 50 numbers °
printed on the dial. Each lock combination is an arrangement of 3 : @ 6
differentnumbers. How many locks can the company make without .
repeatinga combination?{| 7, 600 L] @ 27.360

84 210 z\n\n5117{5.{9‘1‘a|an\112s

[freeel CallwaNs flo (e B
BELL. ALwAYS ToLLED

TOPIC 41 Permutations E-54

ANSWERS
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E-55 TOPIC -3 Integers

NOTE: For Parts Il and Hll, when the answer is "no," you might want to have
students write the integersin proper order.

Why Shouldn't You Let a@ Doctor Put
One of Those Sticks in Yqur Moyth?

Circle the appropriatenumber-letter next to each exercise. Write the
fetter in the matching numberedbox at the bottom of the page.

1. For each exercise. write > or < in the ().

> < >
8 O -3 7| @ 5@ 2 20M
4 Q) -9 20-G 7@ 0 18

'
o

2sfisw] () -1 -14
Gules | @ -15& -5 30-F
wv @) @ -5 &) 1 7-R
-5 wp (o) () 99 @) -0 [
1 243 (470 @-99 ) -100 1-Y
-10 20-E) 12l 0o @ -0 [Qaw]) aal

. For each exercise. decide whether the integers are in order from the least to the greatest.

)
w

A
)

CEEEREEE

IS

YR GUSS

P

yes | no yes | no

@ 925 (ia-a) 25m| @9 -38.-24.19,-10.3 5G [Goc)
(19 8.0.:1.9 16R [Qee) @) -4a.-40.0.1645 7N 27P
12.7 *5.6.15 (20) 19F| (2 -58.-60.4.59.61 31 Qe

1l For each exercise. decide whether the integers are in order from the greatest to the least.

yes | no yes no
@ 12.°1.1.-17 4R |@4-M 90.9,0,-90, -9 31-H (19-1'(

14.6.0. 13,715 (50| 215

(@) 32.-30.29. 5. -85 A QN

@) 25.1.-8,-7.115 14-8 (27
4,2,0,-2, -4, 42 (31-R ] 23U

T415 [7]8e i izTTH 1516 17
__DON'T |KINO| W HO
18 ‘232472526 2728 (2903031132 3334
ATE r HE IICE| [CREAM

<_.
Ow
slco

TOPIC 5.5 Comparing AT| Ordenng integers E-56

suchas-3+-4=-7.

How IsaMouse Like Grassin a M eadow?

For each exercise, identify the integer that results from combining the two arrows.
Write the letter of the exercisein the box containing the answer.

NOTE: You might want to have students write an equation for each exercise,

When Do a Bunch o Cold Germs
Celebratea Victory?

Do each exercise and find your answer in the correspondingset of
answer boxes. Write the letter of the exercisein the box containing
the answer.

®-3+-4 -7 (M-20+-30 ~50

®-6+-1+-3710

®-8+-5 13 @7+8 IS W-4+-7+-11722
®-7+-7 "% ®-9+=2 "l ©-9+-9+-9727
@-1+-16 "7 @ -4+-40 " 44 @13+2+6 2|

® On first down, the Vultureslost 6 yd.
On second down. they lost 5 yd. On
third down, they lost 8 yd. Use an
integer to express their overall

changein position as a resu_ll_(il ﬁe

® Ascubadiver dove 18 ft below the
surface to observe a schaol of fish.
Then he dove another 24 fl to the
bottom. If he started at sea level.
what was his elevation whepn
Y2,

three plays L lyd reached the bottom?
-22 14 -191-a4] 18 117 21 [ -7 [-10]-36] -1 ‘—42!‘57[17- 7[-18] 15
A NGICIEI AL TP
®-33+-15 "48  ©-47+-20 "6T  ®-7+-13+-6 "2k
®-29+-64 =9 @®-8+75 83  (D)-19+-484+-5"77
@®-41+-58"91 (G asa30 7_‘4 @-25+-25+-284
(D72+16 88 ®-87+-2 11 @-8+-8+-8+ 8y

® ..7 -4 -3 ® IQ -—B—>_Bo
0 0
7 6
®5 = o =
0 0
-25 .15 -10 2% _ -12 -12
® ®
0 0
- 3 -5 4
® 5 ® -9
0 o
-4 6
® 3 7 ® 12 18
0 0
- -« . -30
© 10 ® 50 -
— -
© I o 100
® —. © ~__-100
0 [)

16 3 =24 | -4 5 -6 1-25 ] Q] =77] 12 | "150} b] "'5
TiH E|ICAIT TiAL\‘EJE Ax T
¢ LE TIT

E-57  TOPCs-c Adding Infegers using the NUThEr Line

@ The temperatureat 10 am. was -7°F.
By noon. the temperaturehad
dropped 12°F. By 2 pm.. it had
dropped another 5°F. What ﬂﬁqf
temperatureat 2 p.m.? °F

@ Rolex wrote a check for $45. The
nextday, he wrote a check b r $32.
Use an integer to express the change
in his bank balance when the twe
checks were cashed. 3,

-24 -89°-111 —75!—72‘-57 82 |75
H A M TO |H

BREEEEEER

TOPIC &6 Adding integers Like Signs E-58
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NOTE: The Nutrition Scoreboard poster is available from CSPI, 1501 16th
St, NW, Washington, DC 20036.

‘"h H 1
y Didn't the Buttsrfly Who Saw the Brontosaurus Enter the Restaurant?
Gotothe Dance” — ——
Cross out the box containing each correct answer. When you finish, write the letters
Write each answer, then mark it in the answer column. For each set of from the remainingboxes in the spacesat the bottom of the page.
exercises, there is one extra answer. Write the letter of this answerin
the correspondingbox at the bottom of the page. @ 64443 =7 @ 4454246 =
1 542 -3 Answers, 8 9+-4 g Answers. @ 9471548 2 S1e847147 3
AR Qe @ 3474 R ®- () 7+-12+-10 =29 (@) -14+9+20+2 -G
446 - E - - 12 5
‘ +8-10 @8 10 j+:5q OLR™ @ 5416472 @ (@ 29+-4+254353
1+°8 = 7 AR NETA
) . -70+20+30 =20 @) 18+-12+454+76
{2 si2-lg Q7 ©On 9 se2-17 @8 @0 ®© 5
\ R Qe el @S @7 () B+-2+90 (@) 45+-10+-20+ 30 =S
-2+9 - -1 +-20 = - -
7 @ On Monday. the high temperaturein At its first stop a bus picked up 10
3 “7+6 -1 1 O “4+-3 o Frostbite. Alaska. was ~5°F. On people. At Re next stop. 8 people got
- . - - R Tuesday. it rose 14  On Wednesday. on and 3 people got off. At the third
5+78 -3 @ ! @ 3 443~y @ 7 @ ! #dropped20 What was the o stop. 5 people got on and 12 people
- - temperatureon Wednesday?™ gotoff How many passengers were
12*"325 ®25 @18 473 1 @7 @ ! P TUTE then on the bus?
‘ 4 “10+-10 =209 11 -8+18 {0 A nutrition expert rated the relative nutritional
values of many foods. A few ratings are .
17+°1 1 @ 18 @ -8 6+°19 =13 @ 10 @ 18 shown n the table. Ratings of differentitems Nutrition Scoreboard
~ - . _ R can be added to get an overall score for a potato (medium baked) 71
11+5 - @ 20 @ 6 13+518 ® 8 @ 13 meal Find the overall score for each of the fﬂ?ﬁ:‘;ﬁ(%i’ﬁ) ﬁ
5 44+-9 -5 1 2 11+-2 q following meals hanmuraerl;un %
A -7+~ Peanutbultter (2 thsp). jelly (1 thsp). whole milk (8 oz} 28
7+715-22 ® 14 @ ® (A ]| @ 12 ® 8 @ white bread (2 slices) apple %leo‘lh'r:sd(':”:z’) b
“3+12 q ® 22 ® -5 1548 =7 ® -7 ® - @ Hamburger (302) American cheese (1 peantbutter (2 tosp) _ 3
16+8 @ .12 6 0z) hamburgerbun whole milk (8 0z) § § @m;};;gmgwar Bon &
Potato chips (1 0z) Hostess Twinkies (1 f ) 7
6 “5+2015 ®s Ks 1 3 99+-99 O 2 &6 @ pack) CotaCola (1202) = T4 ( American cheese 1102) M
6+6 Q @ -4 ® "] 3+5=2 ® [¢] -4 2large eggs 1 shce of white bread m?ﬂ:‘mes 11pack) ;3
+
butter (1 pat) orange juice (6 0z) 2. Coca Cola {12 oz} 55
“13+-4 =17 -20+-30 =§0
7 7+2-§ R Q-7 14 7+-030 (-0 ()50 TTH N N2 N\g# ED IN
1
1e6-2. @2 @10 70+40-30 @30 -3 -13 /NN /| 57 6
= "ER 85 Y ‘ T AW N4
8 / 4 1] 1|69 |14]7 1103 [13]5|2]12 o) | 14 —3°F! R 52 !
i 'T wlA S AMo|TIH BJAL L 1 L -
IT WAS A MOTH BALL. ITwfeoch N[ER[S[S]A W]
E-59 TOPCs-s Adding InfEgers Untike Signs
TOPIC 5 e Adding Integers Unbike Signs E-60
THE DINERS SAW
Py |oF 3 What Did Cupid Say When Asked:
1 n 1]
o - (TN X7 x| 0 Wherels There Honey Underground?
@ < 8 @ m 13
’; c': T | ™ ™ 8~ Do each exercise and find your answer in the answer column.
o 2 ! T o ! ® 21 Cross out the letter next to it. When you finish, the answer to the
@ C;) (‘:) @ é é cJdlg = 4 titie question will remain.
v &2 -
4]
R & 6+(4-7) 3 (-3+8)+(10-1) 1%
otz 0 yE O) ®
" e feo 2™ 12 @ 9+(2-8 I @ ©-7)+(-11+-2) =14
0= - [a]e ™| s
[C I ':‘ N 8T My Y b4 -
) Somit 9 - s~ - | ~15 ® 12+¢1+5"8 ) E--4+(5-490
&2 0?24 T 08T -8 - w
e [ [ old LT Vol (R LY £ W\Q 3 b
28 Q < ] ' - -3-(3- - ~18) =
= o 22 °e8pralgeefagpFL 0N 700 ® -8-(3-10) @@ (-2+-6)+(20+-18) =b
55 - EY
= P Eeg 3 ™| 14
£¢1] 20000000000 I, > o] @eeee-atT @ r-u-0en-i8
551 2 o
:’u 2s e~ W -5 --1) +-8 =2 - -
Sy cs = olen ® (5--1)+-8 (9 (-11+6)-(9~10) =4
-~ N
E) 0w @ T - w 7
v 8a o o o 9
AR 27 @ 4T W, TPro O F-) %[ 1w @e-19+2-§ ® 6+-8-(3-4 S
D g -~ |
S8 88 ' w8~ awgaar ' |rafet Y [33.476
B o 22 X T L e TN 50 [ ﬁ x| ® @+-7--129 (8 (1--99) - (-1+99) 2
sEg 1 [ 2oy = 9o | N L L —
QE)_\‘ EE% e T T T o T ¥V R 7 2 qgl-0 w7 (i) Ascubadi immi | f-8 Ashark
s8¢ - © scuba diver was swimming at an elevation of -8 meters. A sharl
1) .b %g @ @ @ @ @ @ @ @ @ @ @ . | -18 was swimming at an elevation of -29 meters. Find the differe%e‘
A ¢ £ £ 5 2 ~Z = between these two elevations. m
o = 3 é s }g [7)) _m e 7 Gizmo had a balance of $100in his checking account. One day he
Q =25 g ! b 88 wrote checks for $33 and $20 He also made a deposit of $41é1 at
S g 2c S LYo was his new balance? $
> E g é ?q- 8 ) N @ 31,916 WORLD RECORD: The greatest temperature change ever recorded
'd .
= :f g ‘4 [N ?_- o Q \ E @) N I \ -5 in a single day occurredin Browning. Montana, in 1916. The
g o 2 ° 5 o + L o N + - . ~ N temperature dropped from 44°F to -56°F. What was the chirabin
T HERNL MENE SR G 2 tmperaue? 190
:E ; u|D Ve ol n “‘,’ [T 310 P T x| 8 WORLD RECORD: The world's tallest mountain, if measured from
§ 22 v o« Te& e ?T TP T N " base to peak. is Mauna Kea in Hawaii The base has an elevation of
£a Il - -19.680 feet. The peak has an elevation of 13.796 fex o i
g5 WOOEROLEO®OL Mauna Kea? EER 7
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Why Did the Cow Give Only Buttermilk?

Do each exerciseand find your answer in the corresponding answer column. Write
the letter of the exercise in the box containing the number of the answer.

Why IsYour Noseinthe
Middle of Your Face?

Write each answer, then mark it in the answer column. For each set of

exercises, there is one extra answer. Write the letter of this answerin E e - -
the correspondingbox at the bottom of the page. | @ A1+6 71O Answers: @ F1--8ed [ Answers:
-4.5 20 Answers: 8 -2-3--5 30 Answers: @ 9(-4-3) = {3 @ -44 ® (7+-12)-9 -Ll.s @ -60
1 68 aipg @8 B2 4:-19 -3 R W ® s--9-s5 29 @ -2 @ -3

w21y © @ 85280 ()% o ® -0 ®es-n -po @ -5
EErY 524 78 O r9+-2-4 -4y 1 ® -21+4 30 @
2 -4--6 24 KRz (@) g -7-5-2 ~70(X) 48 @) -s0 @ 20+65-12 13 @29 @ c15+9--1 =8 ® 0

7749 R e -a»—a-—z‘:@-m ) 48 ® %70 13 15 @2t -32 11

-5:79 yg 4:3-75 18 28

3 204 =80 (348 X -80 10 -9--8--1=T2-72 R -60 @ (-6.2+(2.-6) =24 @) &3 ® ¢3--6)-5-2 28 ® s

-16.2-32 -3z &4 226 g4 @A (B2

4 6.5 =3¢ 11 I ogy © 816+ 72 Answers: @ +4+9-8 -y 5" Answors:

-10--18 180 @) 36 - 5--9-2-Qo(@-90 (H)es L ) o "
123 34 (D180 Q180 -6--5390 @ -84 Moo @ s@-3) -q0 @3 | W-se-2 8o @ -2

~1-24 24 12 8210 = | ® 14-8+35 | 5 51; ©-1o-(99-100)-q 2
2-24 -4y @2 R-48 4--5--5 100(C) 100 (R)-160 @ (501 2 g » @ 5609 72 @

-3--24 72 72 84 '6‘—8~'2’96(3100 R -8

7 17 ® © 781 53 ©) 4-12-15 )7 %‘;o © 7+-15-20 -2.8 @i‘;
154 =60 -0 (E)75 13 -3-5-3-ye63 (&-45 @ 1e7- 0 =33 @ -2 ®©2-39 -5y 15
-12--5 O @77 e 4-8-2 = (D-48 R-64

() (-5 -4)+(-6.6) = lfu s (1) (1200 (@) -

4-50 200 271575 = |30
-25-8 =206 (R) -100 &) 200 14 -6:-1-25150% 150 (N) 27 1112|1314 15|16 | 17
-900 0 ®o @-200 3--3-3 =27, 27 X} -150 cla N s H | E
18'19'20 21122123 24 | 25| 26|27 | 28| 29|30 | 31 | 32 | 33 | 34
2 ] 8 B3 5 |1 8 2|6 14]z]w0]7 ,
“'I’Tl]S‘TT\HJE‘S‘C}E‘N}T‘E)Q‘ € g_BuT HER M1 LK
IT 1S THE SCENTER.
E-63 TOPIC 5-h- Multplying fntegers i S Mughcation E-64
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Which Skier Won the Norway-to-Finland
Cross-country i Race?

Each ordered pair at the bottom of the page represents a point on the coordinates
below. Above each ordered pair, write the lener that appears at that point.

bW E E
10
o
o N R N
[ w S
8
T L H
7
o T S s
] H c
5
F R T E
4
0 A S
3
£ N 7
2
[ T S
1
o |1 |E N | N
0 i 2 3 4 5 6 7 8 9 1 0
I T.w A S.T E.F I R 5 T

@5 (74 (B8 33 (1) @6 ©7 610 (12) (38 (29 (108

ONE.TO.CR 6 S S.T B

00) 60 (20) (07) (03) (85 (34) (109) (53) (76) (82 (1.10) (9.4)

©04) {80) 6.2) (79 (21) (98) (55 (47) (1.0) (0.9) (10,10

E-57 TOPIC 6-a Graphing Ordared Pairs: Fust Quadrant

Why Is a Mother Kangaroo Unhappy
When It Rains?

Each ordered pair at the bottom of the page representsa point on the coordinates
below. Above each ordered pair, write the letter that appears at that point.

EEEEIEEEREEEEE NN
o T |
I ] |
T T |
i | P (1S
uEG : i
| { 2H 1
Y o E Al | D
‘—(" = 4 x
i N —ﬂv K - ﬂ
ol |, \ [ Is
| ERENG
T T T T T T
TR T T
R | o |
T TR

O N H O £ -

(46) (7.2) (63) (-5.8) (73.74) (872} (6-5 (1.78) (3.0) (7.0} (0.4)
H E. K1 D S -H A V_

(078) (29) (4°7) (3-3) (81) (6.6) (479) (0.1) (8.8) (37 (572

T O .P L A VY .1 N 5 { D

(1.7) (20) (744) (9,78) (7.77) (0/3) (9.1) (°573) 8-4) (60) (9.5 (0.0

TOPIC 6+: Graphing Ordred Pairs: All Quadrants E-68

NOTE: Numbers are not printed along the x- and y-axes, as students may
benefit from writing the numbers themselves. An overhead transparency of
this page may help get students started.

What Did The Farmer Do When His Chicken

' x Wouldn't Lay Any Eggs?
| "~ Yes No
(1]
\ o \ B 0 DIRECTIONS: (@) 2x+5-13 (4 26-U
| \ :
3 For each exercise. - I
y N, determinewhether or not @ 3y-1-26 0 @ 12K
\ \ the number in braces is @ 6+ 5x =44 {8} 19-1 [(23-A
a solutionof the given
“ e ~ \‘ equation. @ 12-x=7 {5} 16-N 4-B
Y Indicate"yes" or "no" by 4= . "
/[ = - // v4 circling the number- @ Sn-4=92 {20) | 24y [ 60
letterin the appropriate @ 52 =6x+ 10 n 12-E 3-p
’ columnnext to the
g RN exercise. Then write the @ 27 = 15a -1 {2) 8- 26-L
’ \ letter in the matching
numberedbox at the . 2x+1=3x-3 {4} <1Q-G J 27-K
[ \ bottom of the page. =
=t It / |@ 7x-224x+39 1 | 10 [(S)
=T | W I / (@ m+20=11m-6 @ | 15U [(3-R )
p 7 \ / @ 18 + 52 = 8x 6 [(2a-M) 10-0
A A » \ \ | (@ 3x+10=4 -2} 201
= v r ‘1 ‘ (3 ay-1=-21 -5y (11 ) 22-F
o [ T (4) 6+ 2u=-7 8 | 257 [(45-A)
. s - N . 5 i @ 30-x=31 -1y |(7-e) 140
£ o _ -8
LI B B Ll R @® 9-5x- 40 wo | st Qw)
< [LE-X-0M GE Le €2 < st st
- §§ g £ £ £ £ = @) -12=6w+5 -3 [G1-0 ) 18-A
- Sg < e I 2 (19) 4y = y-20 cn [e2c [GH)
= = s =
}:) g =) ] 3 @) -7d =50 + 2d @ | 174
o ; = = £ =
: 5:._.5 a2 g g g g @) 6x+1=3x-11 -4 @ 21-0
YV Ezs gg = a a o 10k -9 =9k + 10 {0 | 10-Cc
O 85§ 0= 5 5 5 @ o | oo [G2o)
°ag 1 ‘Ia 4[576]7 ‘s\smn 12 31415161718 2021 232425 27
§if fese HE| SHOWED ali
=§2 vt
TOPIC 7-a Equatians Goncapt of Solution E-70
E-69 TOPIC 6-b° Graphing Ordered Pairs Al Quadrants
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© n+-36=12
4g
F
~21

® y+4=9
3
b+8=-4
®—I7-

=45
25
-29

=]

©
N

Daffynition Decoder
How NAVY

Information

1121 5 -8 -28-19
@ xX+20
2 () x+30=1

Solve each equation below and find your solution in the code. Each time the solution appears,

write the letter of that exercise above it. Enjoy the de-fun-itions!

TO DECODE THESE TWO DAFFYNITIONS:

wessescosasenm Em NN Necsesecsssvsse m

x+5=11
® ©
@u+7

Buccaneer:
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TOPIC 7-b Solving Equations x +a=b

~ slule[alelz]alxluelzlzlalzisielz|
gl ,la) :lE3|8]3|3[21%5|8|F|E|5|3|5|5
Z w @ e @ = 2 T
;| E I 1PN EY R EREATA R MR £ 2 P L Y
2 & ! ! i &
FIEIT IR et °
)
EE
gj w 5 < b3 e P «@ |5 2
t i "
0 2 " i b !
wolE ) o - oeN . S b e
52 w0 1) 5 0 10
o|Flw| g2 < o AT T EN AL S
HHHE TR
£53
w | u)g €08
‘é%’é’ © © o .EN B 'T ®
838 1 " P 1 I |
d|0|w| $52 Moo NN
=12 x| %3: o | . L ay N
|+ o E:ﬁ T n E x ¢ & 5
a¥ |x =
000000 0
yld|| 828
" -3
SlE[T|3 8. N F oo 8 = o8
:oj o S8<s N = n [ | "
3 FERE N G- b S
pe! 2% xosF ov AU IV - 19
<|> ﬁ g 388 = g ; ' f %
5 3ul3 ® @ © 0 6 ® e
AR EA
T |® |- |
9] >
3 ¥ Z—fulélg
Oluw [] s 22(21E2|12|5|5 Z
=z )z, ¢ SHEEHEEHEE
2 ( G SN EIEIEINEI IS
TOPIC 7 ¢ Soiving Equalions x - a = b E-72

Why Didn't the Elephant Like
to Play Cardsin theJungle?
Solve each equation and find your solutionin the

correspondingset of answer boxes. Write the letter of
the exercise in the box containingthe solution.

) 4x=28 (®) 9n=45
7 S

® 24=2k
1z

(@ -3y=24
8

(© 80=-8a
-0

®) 6m=-18
-3

(@) -32=16d

-1z -2
© ~9x=-72 (&) ~18u=-180 W) ~100 = ~4y
8 10 25
7:‘2_ 10 ‘ -3 é ’~2s ‘p. -2 | 2 ‘~s ‘o —Qm
() -6t=66 ® 15x="30 (® 7n=42
-1 -2 6
® -3p=-39 (¥) 48 - -8a (H) -90 = 30x
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TOPIC 7.d Soiving Equations a = b

What Do You Call A Slow Skier?

boxes in the spaces at the bottom of the page.

Solve each equationand find the solutionin the rectangle below. Cross out the
box containing the solution. When you finish, write the letters from the remaining

+=5 30 ®3=436

®F="3 =21 ® t9-"20-8¢
@Fu=10-36  ®F-12-90
@Fr-"1880
@ 6= 5r-54
@ Fm-20 4o

2272

® $y=25 50
®-8-§-40
®2-Fa-24
@3-% 63
®F--# 9L

®g5="1~60

@ 12=H 14y
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S -54%
& NS KE NV
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NOTE: You might want to have students graph the 3 solutions for each
equation. Since these are linear equations, the solutions for each equation
are on a line. Any other point on the line, of course, represents another
solution.

What Did Olga Say After SheHad Angina,
Arteriosclerosis, Tuber culosis, Pneumonia,
Aphasia, HypertrophicCirrhosis,and Eczema?

For each equation, only three of the given ordered pairs are solutions.

CIRCLE the three solutions and notice the number-letter above each. Write
the letter in the matching numbered box at the bottom of the page.

® 10-A 18-K 4T 24-D 2E
x+y=8 62 |@D| 8
[0) 1M 13-8 2:H 7-F 18-1
x-y=-5 (2,8) ( 49)) | (1.3
® 6-A 24.T 8-U 11-R 15-8
2x+y=4 @ @5 [(32)| 43
® 1-C 15-E 23R 20-G 7-S
® 16-L 12-N 1T 19-F 8-A
x-y=3 -3.7) 40 (2-5)
® 17-K 19-N 3A 9-M 23-8
Sx+2y=15 (4.71) 1 (-1.6)
@ 12-0 140 | 5W 17-L 21-U
21T oS | oH 14.T 14-P

y=4x-1

9

RGN

112314 (5 6.7 8|9 [10(11[12]13]|14]|15 16|17;1B‘19:20‘21‘22 23124

T HAT WASIAHARDSPELLI NGTEST
THAT WAS A HALD SPELLING TEST

E-77 TOPIG 7.n Equations n Two Variablas

Test of Genius

@ Write the letter that logically continues
each of these series.

a) AcbDfeG 4
o bydwf
c) HgFeDcﬁ

@ Adam droppeda rubber ball from a
window 40 feet above the sidewalk.
The ball always bounces half of the
height that it drops.How far will the ball
have traveledby the time it hits the
sidewalkthe 4th time? | |©

@ A donkey and a mule were carrying
i |
bags of gL Ry Wouid e the

same number |f the donkey _ave the @ Mr. Sprout built a fence around his

mule one of his bags, the mule would
have twice as many as the donkey.

How many bags was each carrying?
donke Sgbags mol€ 1 bags

@ If nine thousand nihie hundred nine

dollars is written as $3,909, how should

m'gw@mnwgt; fg‘ngﬁdyevve

5 How can 8 queensbe placed on a @

chessboardso that no queen s under
attack? Mark their locations on this
drawing of a chessboard.

TOPIC 8 Test of Genus E-78

@ Two riders on bicycles, 100 miles apart.

begin traveling toward each other at the
same time, one traveling at 10 miles
per hour and the other at 15 miles per
hour. A fly named Paul Revere begins
flying between the bicycles, starting
from the front wheel of the slower
bicycle. If the fly travels at 20 miles per
hour flying back and forth between
bicycles, being able to reverse
directions without losing any time. how
far will Paul Revere travel before the

bicycles meet? 80 m"
& &

garden so it tormed a square with ten
fence posts on each side. How many
fence posts did he need? 3¢5

At a certain party, there were
handshakes exchanged. Everyone
shook hands with everyone else exactly
once. How many people attended the
pary?q

Move one toothpick to make a perfect

IR R Al vy

—_ )1 Y4isa
| I q ~i perfect
Square

SCORING KEY

8 or 9 — Superstar Genius

8 or 7 — Star Genius
4 or 5 — Genius
3 or less — Genius of the Future
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